About the Book AGRAWAL
=XAMCART
Agrawal Examcart%ﬁmwm 3T e & FaR Ht 7€ wafan Question Bankwmﬁaﬂﬁmﬁ P“t’“ p,‘khf:“wg

JE AR FA I A gh e A aeg et

R 39 Question Bank TFTE 1 FRETEIT 331 & foTe 31 T, 353t A 3R wwa ormmn &1 R R mest 3§ e
] & YUl I Wepferd fban &1 e TuR & WAl @) Ava 3R ear & IR WiaegdeS ddg B T &) e 5 @
TR R ST 7T & e 34T foret st 3 ) Meear gl Wi 3T U W1E e R e, 31 e 3R srearar RReite
wuH afed el

Question Bank JFT® 7 AT HeATIAIR WAl P 501 et § UGB! 79 7 oA 1 1 I W HHer e 3 FHI e

et e & fredh st v HPTRR adtansit 3 reere ST &, 5 I 1 TEH HeEEH R § 319 31 37 T SR B MR
ElnEel]

CIET

Central Teacher Eligibility Test

CTET & 73 QU o& Hgedqof 92aT &1

QUESTION BANK

T fIhT U fRASMRARA | @4l (MT9T 1 UG 2) | English
(Language 1 & 2) | | AT

XD (hhisie big)iblp) yueg uonsand (8 i 9 Lizd ) Z- shh 131D

Buy books at great discounts on: @www.examcart.in | @ www.amazon.in/examcart | n

CTET I -2 (T4 6 8) U5
Question Bank (WIS He) x50 +
AGRAWAL ISBN - 978-03.6054-088-3 §§
=XAMCART O
Ete T * s | PYQS
CB1851 sl7893600540883

%439 July 2024 % & Haft tuef & wafaa deaeier nl o1 Fen

Code Price EPages ISBN

CB1851 I439 429  978-93-6054-088-3



(o <)

> T A AR FEaqul aA
> B e 9 9RiE (6-8) B UredsHH Ud Nie Ye

Hlees YR

> Dro1g 3181 gr=rat 9 (VI to VII) B 99-97 et fafdr : 07-07-2024

> Do 3181 arrat 9Aen (VI to VI B 99H—91 uxien fafer : 21-01-2024

1

2.
3. ﬁlﬂﬂﬁ'ﬁﬁl’l (ER’TIa'sFFI) T4 qIATaR0T Bl YA (Heredity and the Effect of Environment)
4.

5. fraTel, Prede, agvicaa! : fHiu iR e gfedi

10.
11.
12.
13.

14.

15.

16
17

a1 faer 3R fRememe
(Child Development And Pedagogy)

. fapr o 3rauRoN Td SHET AR | W (Concept of Development and Its Relation to Learning)

911 faprm @ Rigr< (Principles of Child Development)

FHTSIGRYT Bl Ufeha : AR g1 iR 4 (Socialization Process : Social World and Children)

(Piaget, Kohlberg, Vygotsky's : Construction and Critical Approach)

. 911 Dfvgd vd werfaeiie fRien & srasmon (Concept of Child Centered and Progressive Education)
. gfg & o1 31 sndreTTe gftedivn U9 agemar gfg

(Critical and Multidimensional Approach to Building Intelligence)
. W91 3R fa=R (fRi99) (Language and Thought)
. arIfoTe ffor & wu ¥ forn: fom o sffien, foifia ST oIk difdre srar

(The Role of Gender : Gender as a Social Construct, Gender Distinctions and Educational Practice)
fdaTa faf¥=Ta (Individual Diversity)

SIThelT AT Addq Tq AYH H\Fq'l'cb_*l (Assessment or Continuous and Comprehensive Evaluation)

Ui uRYeror o1 fHtor (Creation of Achievement Test)
SremTfeaa Tq aferd auf wfea fafay q@{ﬁﬁ & SrfeFHEdat B yga™ (Identification of Learners from

Diverse Backgrounds Including Underprivileged and Disadvantaged Sections)

JfERTH IRFYATY Ud JNeTHT dTcl dTcTeh] Dl JTTTIABIN &Y g

(Identification of Learning Disabilities and Needs of Children with Disabilities)

(Identification of Gifted, Creative, Special Ability Children)
. 91T $¥ W € 9 WEd € ? (How do Children Think and Learn?)
. Treror 9 arferm &Y H EI'EF&TQ' (ﬁ'l&iT?TTF)I) [Basic Processes of Teaching and Learning (Pedagogy)]

(iii )

vii

viii

1-26

1-30

1-3

7-8
9-11

12-23
24-26

27-29
30-31

32-34
35-36
37-40

41

42-50

51-52

53-54
55-58
59-62



18.

19.

20.

21

S W A W

10.

11.

12.

13.

14.
15.

16
17

AHRI-HIhd] 3R ISP <9 & wU § dIcld

(Children as Problem Solvers and Scientific Investigators)
Tl # SR B Ipfodads IraeRemd Td =i 6l Ffeat
(Alternative Concepts of Learning in Children and Children's Errors)

S 3R HaT (Cognition and Emotions)
. JFAURON SR 3IfERM : 3IfeRT # ARG <A a1 RS

(Motivation and Learning : Factors Contributing to Learning)

AITS ITeqg=
(Social Studies)

. e @ 99 (pa, PEl SR ﬁ) [Sources of History (When, Where and How)]

. ATq BT fIpm™ (YRR FH161, UM $9G a0l IRaTe )
[Evolution of Human (Early Society, First Farmers and Shepherds)]

. Ry =1 wa afkes |waan (URMME TR) [Indus Valley and Vedic Civilization (Early Cities)]

. HEINTUYS Bled (Q’I’\’ﬁ‘ﬁﬁ ST ) [Mahajanapada Period (Early kingdom)]

. dIg 9 oi| e (:I'Q ﬁﬁT\’) [Buddhism and Jainism (New Ideas)]

. AR BTel (Ve ATaTSd a1 SR YA W D, IoTferep b, W¥ephal Td fAS) [Maurya Period

(First Empire and Contact With Distant Lands, Political Development, Culture and Science)]
. AR $rel (AT \HIE Ud ATHSA ) [Post-Mauryan Period (New Emperors and Empires)]

. WIRA R R smpwo qen el dead (feeell & gear)

[Muslim invasion of India and Delhi Sultanate (Sultans of Delhi)]
. Il 991 Q4 <1 od1 1 94 (RIS 31 I8
[Rise of the Mughal Dynasty and Autonomous States (Rise of the Empire)]
AEIBTAN i IMaTe (ATIRTe URad= Ta & ph )

[Medieval Religious Movements (Social Change and Regional Culture)]

R | JRIFFAT BT S (¥ TMHA DI AT T YTI0T STa= TAT FHIG ) [Arrival of European

Companies in India (Establishment of Corporate Governance and Rural Life and Society)]

1857 &1 Tqa=d AT 92N 3 fagIe (Suf~avmEre, SR wHe)

[The War of Independence and Other Rebellions of 1857 (Colonialism, Tribal Society)]

| GUR <1 (Afge 3R GuR, Sf 2@zen o1 gHr)

[Social Reform Movement (Women and Reforms, Challenging the Caste System)]
ITECATS! RIS TAT =il ® 91§ WIRe (Nationalist Movement and India After Independence)

RNV, RHAUSH AT HFAY (The Universe, The Solar System, And Mapping)

. ) &Y HIIAT AT SHS URHSH (Earth's Structure And Its Circle)

. JTaRoT Td |qHIEH (Environment and Resources)

(iv)

63-64

65-70
71-72

73-76

9-11

12-14

15-17

18

19-21

22-25

26-31
32-36
37-42
43-49
50-56



18
19
20

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.

S N A W N =

|

ot R w1feR e (Mineral and Power Resources)
Tﬁl Tq S (Agriculture And Industry)

(Human Environment: Settlements, Transport, Communication and Territory Life)
THRT <91 9RA (Our Country India)

fafasran (Diversity)

NIRPR (Government)

THIRT THIST AT SHTJW%I?‘FI'Q' (Our Society and Livelihoods)

formm @ (Gender Perception)

WaR AiegH, fasmE 9 9eiR (Media, Advertising and Marketing)

YR Afdeme iR e fARe (Indian Constitution and Secularism)

ArTfSTR =, e &= Tq PR (Social Justice, Economic Sector and Government)
AT eI : SqD! LR Tq Eg?ﬁl (Social Studies: Its Concept and Nature)
‘hEITd EI'EF&TQ' Q?l wfafaferat Qa RGN (Classroom Processes, Activities and Talks)
aIfe wIfda &1 faera (Development of Reasoning)

oI a1 AJHISTT 18T (Asking and Empirical Evidence)

AT ST UG & THRATY JI \AHIoTd TSI (Social Studies Problems and Social Studies)
I Td e w (Primary and Secondary Sources)

gRArSTT PRl (Project Work)

YT (Evaluation)
TSI (Passage)

English

. Comprehension : Section (A) Prose

. Comprehension : Section (B) Poetry/Extract

. Principles of Language Teaching

. Learning and Acquisition

. Role of Listening and Speaking, Function of Language And How Children Use It As

. Critical Perspective on the Role of Grammar in Learning a Language for

Communicating Ideas Verballes and in Written Form

. Challenges of Teaching Language in a Diverse Classroom : Language Difficulties, Errors and Disorders
. Language SKkills

. Evaluating Language Comprehension And Proficiency : Speaking, Listening Reading And Writing

10.
11.

Teaching-Learning Materials : Textbook, Multimedia, Materials, Multilingual Resources of the Classroom

Remedial Teaching

(v)

57-58
59-60

61-62
63-65
66-68
69-70
71-73
74-75
76-78
79-88
89-94
95-104
105-117
118-122
123-128
129-135
136-142
143-148
149-155
156-157

1-14
15-21
22-26
27-32
33-34

35-38

39
40-42
43-48
49-54
55-56



[y

— e e
W N = O

I I T N R

3rafSa e

3rafSa genen

31feRT Ta 3o

1 3reAraq B Rigia

a1 o1 fRmeror fafey

w1 fR1ero1 & U

o191 <& a1 faera

I Td A DI AT : A B B
YT SFERTH H ATHROT B e

. TSTE BreTal o1 e (A, S, g e foremn) : & wmon # fRreror § g=hferat
. Feqor 3iferm™ \rEl, Urea-Ie, IgHIeH (Fecrifean)

. ¥y &1 ¥ A1 Td STARIAD e
. gl § gen-foram v faer

(vi)

1-13

14-20

21-24

25-27

28-30

31-34

35-38

39-40

41-46

47-56

57-65

66-73

74



Yy e o1 srauRen vd SHd! SIfERH | W
1 (Concept of Development and Its
Relation to Learning)

(A) ST ¥R e dTell; THEROT

(B) S ¥R ge drell; Wi

(C) TUU B IR B aTel; THEROT

(D) 999 & IRF B ITel; oI
CTET (6-8) 30-01-2023

. T & uftean & a1 faQwand €7

(i) I fhar g T HffT Bl

(i) & ST ¥R 7ol aTel i &1

(iii) THH YHIT T & T B & |

(iv) THP FoAT THIRY & FHT BN

Bl

w8 fadmeq gi—

(A) (), (iii)

(C) (i), (iii)

(B) (i), (iv)
(D) (i), (iv)
CTET (6-8) 28-01-2023
. fawra & <Gagmde oafd & @ arad
g7
(A) & HHY A ST T HEH D FB
YHRI & T IO B |
(B) 98 \HY oafy N9 Ied 9gd WD
BB |
(C) THYRYT § ST G B GHY I(afey |
(D) Jreraraven 3 fhaRraen Tk o THa
3afey |
CTET (6-8) 28-01-2023
. B 9 TURE 99 6 B Bl B 79 DEl
ST & ?
(A) Sreraraeer
(B) URf® reurawen
(C) ATeafies STearawen
(D) gd HAfharcH®
CTET (6-8) 20-01-2023
. oo 99 o =i & foareny ygEd: 991
AFIRRT & Tee TR & TN PR Biegd
B & TOIT &H T PRI B P
(A) Srerara=er
(B) URM® Sregmawen
(C) foreiRTa=en
(D) wTeafids STegTa=en
CTET (6-8) 13-01-2023

6. U (A): T4l g gAY DI BT
AT HIHD &l & e |
P (R) : el g 99 B FEH
S AEINTG HDiaD
RIeT B P fHHT 7ol
T
|qE fahey g |

(A) (A) IR (R)IFT 98 € &R (R) 98
T HRAT & (A) B |
(B) (A) &R (R) S ¥& ¥, @fb (R)
TE AT TE E (A) B
(C) (A) W& &, Afb (R) Terd & |
(D) (A) &R (R) <M Tord ¥ |
[CTET (VI to VIII) 08-01-2022]

. g @ ey & Ted § SH—a1 Hod

T ?

(A) TP QUi w9 & sgaRiedr 3 feiRa
B

(B) fer qui %50 & qafervT gR1 FAiRa
AT

(C) T # I MaRiedr g qafavo
@ I fraTd e §

(D) TF—NTE ALI0T SIS BT & qe
el TIaRvr §RT LR Bt 2 |

[CTET (VI to VIII) 08-01-2022]

. STeITaRel ¥ o1 YRy ?

(A) IE TH AMIRIG HaT B |

(B) ¥E TP IANIRG AT & |

(C) T& T & ST 3 TTax S faenery
ST g6 HRA Tb DI I7ale Bl
APNIRTT BR- qTel TROT & |

(D) T fawra ot 98 orafdy &, foraw e
AEAAS TRAT B & |
[CTET (VI to VIII) 06-01-2022]

. 91 faerT & AHEene Rkyey ¢

(A) 9T BT TH WD Yol & ©F H G
¥

(B) ST P TP Sf2h A B w9 H I@d
¥

10.

11.

12.

13.

(C) TreuTa=en &l fafre axol § fawifora
AT
(D) STeUTaReN I Ve faferse wiedsicre 7d
AMHIRTS X1 A & |
[CTET (VI to VIII) 06-01-2022]
frforRad areal # SHE—1 fawmm & faw
AE AT ?
(A) T ggemarh va Igg= B B
(B) Arpfus gRacy & e gwfaq
& BT |
(C) fawr Siaw gd=a gRac= &1 gfean
Bl
(D) feer ghtaa @ FeiRa Afa &
AT
[CTET (VI to VIII) 24-12-2021]
e & HaH # ffeRad § | dH-—1
U H & ?
(A) B IS 30T 99 W ¥, 59 9
AREPiaD oY W TS Tffafer
H 9T O ¥ |
(B) wrede fAfAfei #§ 9T oM W B
A 3TVT T §
(C) 7 9 HA I9 drEd &, 99 9
ARPa® ©9 & gNfTE fafafert
H AN oI B |
(D) faenef we &9 e ¥, o9 9
e Attt # wrT ot ¥
[CTET (VI to VIII) 04-01-2022]
I & g =T 9 9gd 4 e qae
IRa B & T AT UEA A |l
@I IR g1 BT & ?
(A) foreRma=en
(B) drerara=er
(C) YRS Treamawen
(D) #eafied areaTaeen
[CTET (VI to VIII) 30-12-2021]
BAA (A) : T fIBRT Baet AeT-arawen &
ARM BT S AR gAY Baet Aerarawe
TP B IUYh SEIud Y& BRAT A1y
T (R) : TSN I8F & IR 3T oy
Y THRIHS ITATIROT BT STEBITD THT
el B |
q1e faea IR fememe | 1




14.

15.

16.

17.

18.

19.

|2 fdey g

(A) (A) 3R (R)SHT ¥ & 3R (R) &8
R FRAT & (A) BT |

(B) (A) @R (R) 3 W& ¥, <ifb (R)
WA IR T B (A) B

(C) (A)\& ¥, Afd (R) ToTd B |

(D) (A) AR (R) ST Terq ¥ |

[CTET (VI to VIII) 30-12-2021]
fre erafl @ aRM R ofd ok

SIENEICIRRT |5
(A) dreraraer (B) YRF® o
(C) 97 9= (D) foeiRTa=en

[CTET (VI to VIII) 01-01-2022]

o & S9 97afy B T Bed ©, o9
ST D! TR I SR Ol & 3R
IR GRAR B Ja 1 H ARl &7 -
g Hew@qul 81 IRl & ?
(A) Jreraraer
(B) STRf™& Srearawen
(C) Hed Sreurawel
(D) feiRra=en
[CTET (VI to VIII) 31-12-2021]
fIpra & P e § fore oo
IR § ? I b RIS
1 I &R epp faas
(A) FEg reuTaRel (B) STR STcdTave
(C) fRRiRmERen (D) Yd quRpIawen
[CTET (VI to VIIT) 31-12-2021]
e @1 Qe R 79 ® 9= @ forg
T BT 8, e &R T T I |
BRI BT 8 | 7% Srefdedr & HeforRad
W ¥ fore Rigid & @ ® ?
(A) STfReRar (B) XRaeperr
(C) UPpwmuar (D) gt
[CTET (VI to VIII) 21-12-2021]
(A) o DI AEAHAS TRI B & |
(B) ¥ Baet OTHS TRaH B ¥ |
(C) & FHa I e gfommT &
JAT PR ARSATT B ST Fehell
Tl
(D) TS FaRed R e I o
BT &, <IfhT 3eTI—3TeT gl &
BT & TR 3TTT—37eT BT B
[CTET (VI to VIII) 10-01-2022]
I E & | TE A
U R 98 SRaxe] 1
SIS & |

P (A) :

2 | AGRAWAL =XAMCART

20.

21.

22.

23.

T® (R) : frera @& |9 emam™
RER ©9 9 S gV
- wrdfke fyera,
AIATHS faETE B
YT BT & |

w2l fawed g

(A) (A) R (R) < I8 & &R (R) 98
T HRAT & (A) B |

(B) (A) 3R (R) T F& ¥, &fd (R)
E! R TE ' (A) B

(C) (A) W& T, afT (R) Tord B |

(D) (A) AR (R) 3T Tord &

[CTET (VI to VIII) 05-01-2022]
geer A fyera efiv
P B AR, TGHT
3R 95T W S1awR Y_TH
B AR |

TR WY ¥ IfYd ITemaven
@ qRoTE} Bl 918 @ T8t 7
ST FgA A B & |
(A) (A) R (R) T I8 & &R (R) &
ST HRAT & (A) B |
(B) (A) 3R (R) I F& ¥, Afd (R)
T8 AT TE E (A) B
(C) (A) W& T, ofd (R) Tord B |
(D) (A) 3R (R) ST 7T & |
[CTET (VI to VIII) 29-12-2021]
SHTERTH 1 T8 Y54 TSI sred R 1 bt
BRP UG &, T Beeldl & 7
(A) AFIRSTS STferT
(B) HqERATG! ST
(C) IT=IYUT AR
(D) AMFqamETEl STfeRTE
[CTET (VI to VIII) 29-12-2021]

DU (A) :

TP (R) :

g A § L5 TP B
1Tl g T TS BT AT BT ST & |
(A) S AT SreaTaver

(B) <T=; fomeiRra=en

(C) THHRT; AefiE Jrearawen
(D) THEROT; foemRTavern

[CTET (VI to VIII) 12-01-2022]
gdl & faerd & wpt
T P & Fwar |
qaTgAN 8 AT S

NqpdT |

DY (A) :

24.

25.

26.

27.

B (R) : ARG g qafaRui
PRB| B IS FAHT
gTgl A SrAT-AT
YT B AT 97 BR & |

(A) (A) R (R) I 98 E &R (R) 78
T HRAT & (A) B
(B) (A) 3R (R) I & &, @Ifd T (R)
WA R T8 E (A) B
(C) (A)\& ¥, Af (R) ot & |
(D) (A) &R (R) <M Tera ¥ |
[CTET (VI to VIII) 12-01-2022]
AfHeE (A) B GFHaAl A iR
TSR A AP g Bl YA BT 5TZH
TR ST &, a0 A¥pferdl 7 59
T T ST & |
HRT (R) A= Arpfas gt # e
qTet F=@l B oY F99 & g T B
¥
(A) (A) 3R (R)SHT 98 § 3R (R) 981
YRET FRCAT & (A) B |
(B) (A)3IR (R) I |2l & AfB (R) T
I TE B (A) B
(C) (A) & & afdpe (R) Tt B
(D) (A) 3R (R) ST T & |
[CTET (VI to VIII) 07-01-2022]
™ & YR TR B foTe AT ren
BT FIT HET I &2
(A) TapraTEs BHri
(B) faorTees amaegahand
(C) famprareres aremd
(D) fam™TH® &=
[CTET (VI to VIII) 03-01-2022]

(A) ITRR & AL | IR D e # B
Bl
(B) I VW SR P AR B ¥ |
(C) TS 3marh B |
(D) TIATEaRUIRT BRG & GHIFAT T8 B
Bl
[CTET (VI to VIII) 03-01-2022]

TG RigT “Ta9-’ BI.... AT & |

(A) TF AFISS AT

(B) u% Wil § ufds @re

(C) wgd 31 T1g iR faiam et

(D) fheiRTa=en q& &1 AT Brel
[CTET (VI to VIII) 23-12-2021]



28.

29.

30.

31.

32.

33.

frferRaa # & ey aTegTawen & srafy
BT = g0 g D41 § ?
(A) T DRIE 3R T ARIRSG gfg
BT Ao I fIBRT |
(B) I=fe T R SRR w4 | A
B &I BT FIBRT |
(C) TNHTHAG—TA Bl SHIAT |
(D) THETd faaRl &1 fdem o 6
TPHRId 9 F Tl T
[CTET (VI-VIII) 31-01-2021]
TITIRT Bl AAfY F IRy
(A) F BT IRATOTHS TR B
(B) I afid 3R erTvag Bl |
(C) Wl TIfy 3 &A1 & va S AT A6
ST e |
(D) g 3R A3 B ¥
[CTET (VI-VIII) 31-01-2021]
TR B BRI WFT A IR a1 SRR
3R 1 I erian &
(A) Feg-a1e faeT & Rigral &
(B) | fyer & Rigrdl o
(©) fafe=oi faera & Rigral o
(D) faddipd e & Rigidi @
[CTET (VI-VIII) 09-12-2018]

................ HEAT B MG B I AferHRT
g TEa] P AT BIE-BIC aradl |

AT Yo PR A ¢ |
(A) 24330 (B) 30 36
(C) 12918 (D) 18 24

[CTET (VI-VIII) 09-12-2018]
T-ggu Al T
A) 2T9F 699 (B) 699 11 9
(C) 10T H I (D) 99 4 2 af
[CTET (VI-VIII) Feb., 2016]
frefafaa & 9 -1 ®od fdeN
AR orferm & 919 H9Y B IS WY
 Siredr &7

34.

35.

36.

37.

(A) SIferM SR fawRT Te wfed aRId
3 37 |EfRT Bl
(B) fasr siferm & waaH & |
(C) e faemT & Gro el & |
(D) erfera v fyera wwrETel®
RIS orex |
CTET (VI-VIII) Sept., 2015
T 9§ -1 e &1 Te Rigia
T ?
(A) R aemged R wafarer AT &
I B B |
(B) fasrT Helemaryg & &l
(C) Tawma daar F¥piad | eiid iR
FuiRa 2 2|
(D) fasrT Shauid & & |
[CTET (VI-VIII) Sept., 2015]
¥ o gy Frfeifad & & fore ST
P H eI U B R &7
(A) SRR S8R (B) a—<emiid
(C) FRI—qATE (D) TART &R
[CTET (VI-VIII) 21.09.2014]
1 & foraa fiems sfad &2
(A) AEHTAG fq@mT — gRYFad
(B) 9MIfNT® fad™T  — araraxo
(C) s faess  — gRyaadn
(D) IRIR® fawT  — qraraxon
[CTET (VI-VIII) 28-07-2013]
3T emg—avt arer faenfiay o wenm &
IR X 1o Rerd Ffore el
S i He@qul 2 |
(A) S9F AMHHTD] B I
(B) wriSTH—afie gsoyf
(C) Wepiih qeavfH
(D) faorrH® Sraversiy
[CTET (VI-VIII) 18-11-2012]

38.

39.

40.

41.

e g% B &
(A) STR—STITaReN |
B) W‘@ (Pre-natal) 3Ta¥er &
(C) 3rerareen (Infancy) A
(D) Jd-aTcaTaRen

[CTET (VI-VIII) 29-01-2012]
YRS BT [ g w9 § @
e B!
(A) TRIRS fawr
(B) MR fawmT
(C) FIMeHS fawmra
(D) dfg® fe™

[CTET (VI-VIII) 26-06-2011]
fpra Renef g . H
1 B B
(A) fawra—wa
(B) fa®ma &1 AT &
(C) Ifg va oo & Riga
(D) fasrd &1 =X

[CTET (VI-VIII) 26-06-2011]
Aa It o6 fRy Rigidi = smenlRa
¥ | Ffafed § | dF-—w1 A9 e
o1 Rigra 781 87
(A) I ¥ fafdree (B) wfcradt
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Chapter
1 Comprehension : Section (A) Prose

Direction (Q. No. 1-8)

Read the passage given below and answer
the question that follow by choosing the most
appropriate option from the given one.

1.

Dhanpat Raj Srivastava or Munshi
Premchand as he was better known was
born on 31 July, 1880 in Lamahi near
Varanasi in Uttar Pradesh. He ranks as one
of the tallest icons in the field of modern
Hindi and Urdu literature. He had to face
tremendous struggles to make his ends
meet due to his parents' early death. In
1910, the District Magistrate in Jamirpur
reprimanded him for his collection of short
stories Soz-e-Watan, which was termed
as seditious. Hereafter, he began to write
under the pen name "Premchand".

. He wrote in Urdu under the name of

Nawabrai. Credited with introducing
realism to the world of Hindi literature,
he responded to Mahatma Gandhi's call
in 1921 and resigned from government
service. On the personal front, he married
twice. He used to write in the language of
the common people and is credited with
introducing issues like communalism,
corruption, poverty and colonialism into
Hindi and Urdu literature.

. In 1923, he established a publishing house

'Saraswati Press'. In 1930, he came up with
a political-weekly called 'Hans'. In 1931,
he took a job of teacher in a Marwari
College in Kanpur. In the same year he
left the job and came back to Benaras
and worked as an editor of the 'Maryada'
magazine and as a headmaster in the Kashi
Vidyapeeth. In 1931, he moved to Mumbai
and worked as a script writer for Ajanta
Cinetone, a production house. The script
for film Majboor was written by him. His
last works were Kafan and Godaan.
He lived a life of penury. Many of his
works were later made into movies
and television serials. The legendary
Satyajit Ray made two movies based on
Premchand's works-Sedgati and Shatranj
Ke Khiladi. Premchand also wrote some
plays. His works have been translated into
many Indian and foreign languages. He
passed away on October 8, 1936.
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1. Which pseudonym did Munshi use for his

works in Urdu ?
(A) Dhanpat Raj (B) Saraswati
(C) Nawabrai (D) Majboor

Why was Premchand reproached by the
British officials ?

(A) He wrote both in Hindi and Urdu.

(B) He wrote in the language of common
people.

(C) He participated in freedom struggle.

(D) He wrote a collection of rebellious
short-stories.

. Which style of writing was introduced by

Premchand in Hindi literature ?
(A) realism

(C) fiction

(B) romanticism

(D) horror

. According to the passage, which

combination accurately describes different
professions that Premchand took up in
different phases of his life ?

(A) publisher, actor, filmmaker, teacher

(B) publisher, script-writer, headmaster,
editor

(C) publisher, teacher, script-writer, film-
maker

(D) publisher, script-writer, editor, film-

maker

. Which of the following were the major

themes in Premchand's writings ? Choose
the appropriate combination.

(1) Communalism
(2) Colonialism
(3) Capitalism

(4) Corruption
(A) 1,2,4

©) 1,3,4

(B) 2,3,4
(D) 1,2,3

. Which of the following words is closest

in meaning to the word, 'penury' as used
in para 4 of the passage ?

(A) bourgeois

(B) poverty

(C) affluence

(D) magnificence

Read the following statements :

(1) He resigned from government
service in 1921.

(2) Heresponded to Mahatma Gandhi's
call and refused to marry.

(A) Both (1) and (2) are true.

(B) Both (1) and (2) are false.
(C) (1) 1is true and (2) is false.
(D) (1) is false and (2) is true.

Which part of speech is the underlined
word in the sentence given below ?
"He wrote in Urdu too under the name.....
(A) Adjective
(B) Preposition
(C) Conjunction
(D) Adverb

Direction (Q. No. 9-15)

Read the passage given below and answer
the question that follow by choosing the most
appropriate option from the given one.

1. The words-Invention and Innovation

are closely linked, but they are not
interchangeable. The inventor is a genius
who uses his intellect, imagination, time
and resources to create something that
does not exist. But this invention may or
may not be of utility to the masses. It is the
enterprising innovator who uses various
resources, skills and time to make the
invention available for use. The innovator
might use the invention as it is, modify it
or even blend two or more inventions to
make one marketable product.

. If an invention is the result of countless

trials and errors, so can be the case
with an innovation. Not every attempt
to make an invention is successful. Not
every innovation sees the light of the day.
Benjamin Franklin had the belief that
success doesn't come without challenge,
mistake and in a few cases failure.

. One of the world's most famous

innovators, Steve Jobs says, "Sometimes
when you innovate, you make mistakes.
It is best to admit them quickly and get on
with improving your other innovations."
Thus, inventors and innovators have to
be intrepid enough to take risks: consider
failures as stepping stones and not
stumbling blocks.

. The inventor of Velcro was hiking in the

words when he found burrs clinging to his
clothes and his dog's fur. A few years later,
he made and patented the strips of fabric
that came to us as Velcro.

English | 1



5.

10.

11.

12.

13.

14.

It is not easy, and at times almost
impossible, for an inventor to be an
innovator too. There are very few
like Thomas Edison who graduated
from being an incredible inventor to a
successful manufacturer and businessman
with brilliant marketing skills. While
innovations that have helped to enhence
the quality of life are laudable, equally
laudable are the inventions that laid the
foundation of the these very innovations.
CTET (6-8) 30-01-2023
The main idea of the author is to ............
in the given passage.
(A) highlight the difficulties faced by
innovators.
(B) reveal the importance of inventors.

(C) motivate readers to focus
becoming entrepreneurs.

on

(D) Compare innovators to inventors.

Velcro can be best described as ..........

(A) the need of the hour

(B) an accidental invention

(C) the fruit of failure.

(D) a highly planned and researched
invention.

Which of the following statements from
the passage clearly indicates failure ?
(A) Invention is the result of countless
trials and errors.

Inventors and innovators have to be
intrepid enough to take risks.

Not every innovation sees the light
of the day.

If innovations are laudable, equally

(B)
©
(D)

laudable are the inventions.

Which of the following statements does
NOT hold true in light of the passage ?
(A) Inventors may not be Innovators.
(B) Invention is the same as Innovation.

(C) Invention may not necessarily be
useful.

(D) Innovators enhance the utility of
inventions.

Benjamin Franklin and Steve Jobs believe

that .............. .

(A) making a mistake before finding

success is not unusual.

there is no place for mistakes in the

process of making an innovation.

B)
(C) failure is a permanent stumbling
block.

all innovators have to go through

(D)
failure.
Which of the following words can

replace the word 'intrepid' in para 3 of
the passage ?
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(A) unworthy (B) daring
(C) intellectual (D) rich

15. Which part of speech is the underlined
word in the sentence given below ?

"While innovations that have helped to
enhance the quality of life ...."

(A) Noun 18.

(B) Verb
(C) Conjunction
(D) Pronoun

Direction (Q. No. 16-23)

Read the following passage and answer the
questions that follows :

1. Tom Hamiltom liked his Aunt Providence.
She taught at the university. Her full name
was Dr. Providence Hamilton. When she
came to Tom’s father’s farm in the Cawichn
Valley on Vancouver island, which is part
of the province of Britin Columbia, she
always brought beautiful presents. Tom
always waited eagerly for her arrival. How-
ever, he didn’t like her constant companion,
a dog, Genevieve Truchert.

2. Tom Hamilton was fond of other dogs.
He had a dog, a bull terrier called Rusty,
a fighter from the word go. Rusty kept the
pheasants out of the garden and earned
his living. Tom thought that Genevieve
was good for nothing. She never even
looked like a dog. She was a great big soft

wheezing lazy wagging monster, a great 21.

big useless lump.

3. Dog’s behavioural quirks, much like those
of humans, aren’t mere products of genetics
or pedigree; experiences are a crucial factor
also. “Every dog is different”. And yes,
breed is an undeniably powerful factor in
a dog’s behaviour. Experts agree that dog
behaviour is the product of a multitude of
factors, among them, genes development,
socialization and the environment in which
they grow. The key ingredient in every
recipe, though is always us, the people
who fancy themselves the arbiters of what
makes a dog, a dog.

4. At first perhaps lopsided, the relationship
soon became more mutually beneficial.
People realized that dogs could enhance
human’s ability to feed and protect their
families and their sheep and cattle also.
The animals would do this in exchange for
food, shelter and may be some well-earned

17.

19.

20.

22.

23.

How did Rusty earn his living ?
(A) He guarded Tom’s garden.
(B) He worked as a therapy dog.

(C) He chased away the bulls from his
farmhouse.

(D) He acted as a livestock guardian.

How does Tom feel about Genevieve ?
(A) He admires her.

(B) He is afraid of her.

(C) Heis very fond of her.

(D) He thinks her to be a useless creature.

Read the following statements :
(a) Tom awaited eagerly for his aunt’s
arrival because his dog Rusty liked
to play with Genevieve Truchert.
(b) Humans keep dogs as pets as they
are good entertainers.

(a) is true and (b) is false.

(a) is false and (b) is true.

Both (a) and (b) are false.

Both (a) and (b) are true.

(A)
B)
©
D)
Which of the following does not describe
Genevieve Truchert ?

(A) alazy monster

(B) acompanion to Dr. Hamilton

(C) afighter

(D) a good for nothing dog

Which of the following factors play
the most important part in a dog’s
behaviour ?

(A) The environment in which it grows.
(B) The basic heredity factor.

(C) The socialization experience with
other animals.

(D) The humans it interacts with.

‘Quirks’ in para 3 means the same as :

(A) whims (B) etiquette

(C) protocol (D) agreement

‘Island, in ‘Vancouver island’ is used
as a/an :

(A) adverb
(C) adjective

(B) noun
(D) verb

Direction (Q. No. 24-30)

Read the following passage and answer the
questions that follow :

1. Good writers know their way around a

16

belly rubs.
CTET (6-8) 28-01-2023

. Where does Tom live with his father ?

(A)
®)
©
D)

in an apartment
in a big mansion
on a farm

in an outhouse

metaphor, where you make an analogy
between two things to show how one re-
sembles the other in some way. A metaphor
is a poetic device that deals with compar-
isons. It compares similar qualities of two
dissimilar objects. With a simple metaphor,
on object becomes the other; Love is a
rose. Thus, metaphor can communicate so



24

25.

26.

much about a particular image, that poets
use them more than any other type of
figurative language. The reason for this is
that poets compose their poetry to express
what they are experiencing emotionally at
that moment. Consequently, what the poet
imagines love to be may or may not agree
with our perception of love. Therefore, the
poet’s job is to enable us to experience fit,
to feel it the same way the poet does. We
should be able to nod in agreement and say,
“Yes, that’s it! [ understand precisely.”

. Metaphors have been studied for a long time

from different perspectives. Philosophers
tend to consider language as literal, thinking
metaphors to be aberrant, only to be used
by poety congnitive linguistics view
metaphors as important and not marginal at
all, emphasizing the construal of meanings
and our embodied understandings of the
situation. Traditionally, a metaphor is
treated as a part of figurative language such
as simile, an explicit comparison signalled
by the word ‘like’ or ‘as’. It is viewed
as a characteristics of language alone.
Philosophers like language to be literal.
Some scholars believe that a metaphor is
simply a matter of bringing out similarity
between one thing and another apparently
different thing i.e., saying one thing in
terms of something else. Robert Frost has
said, “Poety provided the one Permissible
way of saying one shift and meannig
another : Words do have their literal
meaning but they can also be used so that
something other than the literal meaning is
implied e.g., when we say “That man is a
pig”. It is clear that literal meaning cannot
be true.
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. Metaphors are often used by :

(A) philosophers

(B) poets

(C) research Scholars

(D) cognitive linguists

Which of the following statements is

NOT correct ?

(A) Metaphors are examples given to
help us understand a concept better.

(B) Metaphor is a figure of speech no
longer in use.

(C) Metaphors bring out similarities in
dissimilar objects.

(D) Philosophers believe that metaphors
are used only by poets.

Cognitive linguists treat metaphors as

equivalent to :

(A) an analogy

(B) modernism

(C) aliteral interpretation

(D) naturalism

27.

28.

29.

30.

Read the following sentences :
(a) metaphor is linking of two or more
disparate elements, which can result
in an unintentional effect.

(b) Inametaphor, resemblance between
two unlike entities is explicity indi-
cated by the words ‘like’ or ‘as’.

(a) is false but (b) is true

(a) is true but (b) is false

(A)
®)

©
(D)

Both (a) and (b) are true
Both (a) and (b) are false

word ‘pig’ signifies that the man is :

(A) abnormal

(B) lazy

(C) greedy

(D) Both (B) and (C)

‘Aberrant’ in para 2 means the same as :
(A) uncertainty
(C) regular

(B) uncommon
(D) deviant

‘Construal’ in para 2 is used as a/an :
(A) verb (B) adverb
(C) noun (D) adjective

Direction (Q. No. 31-38)

Read the passage given below and answer
that follow by selecting the correct/most
appropriate option :

1. Tam often amazed by the questions children

ask and the thought process they carry out
to answers some of ours. Their questions
and answer can be profound and thought-
provoking. At times they demonstrate
what we call ‘critical thinking’. Our
responsibility as educators, is to ensure
that the ‘critical thinking’ capability of
each student in our care flowers, rather than
shrivels, as a result of their schooling.

. My two boys aged 10 and 7 and I were

toying around with a prism on the balcony
of our house one night, looking at the
steetlights through the prism to see light
split up into different hues. There were a
lot of questions. Why do we see so many
colours through the prism ? Why are we
unable to see the split colours without the
prism ? Are the colours really there ? There
was a lot of speculations as well. Without
my giving them the ‘right’ answers, we
discussed the role of light on our ability to
‘see’ the world and all the colours in it. Just
then there was power cut and everything
was plunged into darkness. Suddenly, after
a minute of silence, I heard my eldest’s
voice. “The world is colourless!”

Children evidently have an innate ability to
reason, to examine varied and complicated
ideas and situations, and express them in
simple terms and language. The explanation
may not always be logical or scientifically

In the sentence ‘That man is a pig’ the

31.

32.

33.

34.

35.

36.

37.

38.

accurate, but they ‘make sense’ and are not
entirely ‘wrong’ either. We expect students
to respect us and each other also, but
what do we mean by respect ? More often
than not, we preach borrowed ideas and
principles. An eighth grader put it across
simply, “espect means understanding the
concept behind someone else’s beliefs,
not necessarily agreeing or following, but
understanding and feeling compatibility”.
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The word ‘flowers’ in para 1 is a/an :
(A) adjective (B) verb

(C) noun (D) adverb
‘Without my giving them the right

answers’. The underlined word in this
sentence is a/an:

(A) adjective
(C) verb
Which word in para 1 is the antonym of
the word ‘bloom’ ?

(A) critical (B) profound

(C) flowers (D) shrivels

Which of the following words in para 3
does not mean an ‘idea’ ?

(B) noun
(D) conjunction

(A) compatibility (B) concept
(C) belief

Read the following sentences :

(D) explanation

(a) Children can express different ideas
in simple language

Children cannot examine complicated
ideas

Children give inaccurate explanations
Children have innate reasoning
ability.

(b)

()
(d)
(A) (a) is incorrect but (c) is correct
(B) Both (c) and (d) are correct

(C) Both (a) and (d) are correct

(D) (b) is correct but (d) is incorrect
Why were the father and his sons toying
with the prism ?

(A) to answer a lot of questions

(B) to play with the prism

(C) to see light split in different colours
(D) to look at the streetlights

What according to the eighth grader in the
passage is NOT respectful ?

(A) always disagreeing

(B) feeling incompatibility

(C) understanding others

(D) believing someone else

Read these statements carefully :

(a) The writer is amazed by the questions
asked by children

Children ask questions that do not
require critical thinking capability
Both (a) and (b) are correct

(b)

(A)
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(B) (a) is incorrect and (b) is correct
(C) Both (a) and (b) are incorrect
(D) (a) is correct and (b) is incorrect

Direction (Q. No. 39-45)

Read the passage given below and answer

that follow by selecting the correct/most

appropriate option :

1. South Africa with a new tourism slogan-
Leave Ordinary Behind-is fast becoming
a popular tourist destination. There are
over 9,00,000 arrivals per month of which
around one quarter are from outside the
African continent. It generates between
1-3 percent of the GDP. Among the main
attractions are the diverse and picturesque
game reservs and exotic animals.

2. For the thrill seekers who visit South Africa.
the unique attractions are bungee jumping
and white water rafting. The country boasts
of the third highest commercial bungee
jump in the world. Located on the border
of the Eastern and Western Cape and at the
height of 216 metres, it’s certainly not for
the faint of heart. There is an ever-growing
group of people who prefer the thrills
and excitements of a rough and adrenalin
paeked South Africa and water rafting trips
on awesome torrential rivers. Such trips
promise hours of enjoyable, exhilarating
and challenging adventures where rafting
enthusiasts can test their skills. The Orange
River in the mountainous deserts and the
vall river near the capital Johannesburg are
some favourite destinations.

3. South Africa has 19 national parks on
37,00,000 hectares of land, almost 3
percent of the country’s total area. The
Kruger National Park is the most popular
among foreign tourists. It is cost effective
and offers a do-it-yourself safari which is
functional and affordable. Free roaming
wild animals, land based whale watching,
diverse eco-zones, magnificent rock
formations, rolling grasslands, crystal clear
streams......... yes, South Africa has it all
for those visitors who want to leave the
ordinary behind!
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39. Which word in para 2 will be closest in

meaning to the word ‘excitement’ ?
(A) favourite
(B) thrill
(C) unique
(D) adrenalin
40. Identify the word in para 3 which is the
antonym of the word ‘similar” :
(A) clear (B) functional

(C) popular (D) diverse
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41. ‘There are over 9,00,000 arrivals per
month’. The underlined word in this
sentence stands for :
(A) tourists
(C) trips

42. SouthAfricahas................ national parks
which accounts for almost ................
percent of the country’s total area.

A) 3,19 (B) 19,9
©) 19,3 (D) 91, 19
43. Read the following statements :

(a) Tourism generates 1-3 percent of
South Africa’s GDP.

(b) Out of 9,00,000 tourists that visit

South Africa, three quarters of

them are from outside the African

Continent.

Both (a) and (b) are incorrect

Both (a) and (b) are correct

(a) is incorrect, (b) is correct

(a) is correct, (b) is incorrect

(B) attractions
(D) destinations

(A)

(B)

©

(D)
44. The word ‘enthusiasts’ in para 2 is a/an :

(A) adverb (B) noun

(C) adjective (D) verb

45. ‘Such trips promise hours of ................
challenging adventures’. The underlined
word in this sentence is a/an :

(A) preposition  (B) adjective
(C) verb (D) noun

Direction (Q. No. 46-53)

Read the passage given below and answer
the question that follow by choosing the most
appropriate option from the choices given
below.

Watching is meditation. What you watch is
irrelevant. You can watch the trees, you can
watch the river, you can watch the clouds, you
can watch children playing around. Watcing is
meditation. What you watch is not the point;
the object is not the point. The quality of
observation, the quality of being aware and
alert-that's what meditation is. Remember
one thing; meditation means awareness.
Whatsoever you do with awareness is
meditation. Action is not of importance, but
the quality that you bring to your action.
Walking can be a meditation if you walk alert.
Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if
you listen with awareness. Just listening to the
inner voice of your mind can be meditation
if you remain alert and watchful. The whole
point is, one should not move in sleep. Then
whatsoever you do is meditation.

The first step in awareness is to be very
watchful of your body. Slowly, one becomes
alert about each gesture, each movement.
And as you become aware, a miracle starts
happening; many things that you used to do
before simply disappear; your body becomes

more relaxed, your body becomes more
attuned. A deep peace starts prevailing even in
your body, a subtle music pulsates in your body.
The same has to be done with thoughts. They
are more subtle than the body and of course,
more dangerous too. And when you become
aware of your thoughts, you will be surprised
what goes on inside you. If you write down
whatsoever is going on at any moment, you are
in for a great surprise. You will not believe that
this is what is going on inside you. And after
ten minutes read it, you will see a mad mind
inside ! Because we are not aware, this whole
madness goes on running like an undercurrent.
It affects whatsoever you are doing, it affects
everything. And the sum total of it is going
to be your lif ! So this madness has to be
changed. And the miracle of awareness is that
you need not do anything except just become
aware. The very phenomenon of watching it
changes it. Slowly the madman disappears,
slowly the thoughts start falling into a certain
pattern; their chaos is no more, they become
more of a cosmos. And then again, a deeper
peace prevails. And when your body and your
mind are at peace you will see that they are
attuned to each other too. Now they are not
running in different directions, they are not
riding different horses. For the first time, there
is accord, and that accord helps immensely to
work on the third step-that is becoming aware
of your feelings, emotions, moods. That is the
subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just
one step more. A little more intense awareness
is needed and you start reflecting your moods,
your emotions, your feelings.
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46. A mad mind may be discovered :
(A)
(B)
©)
(D)

only in abnormal people

even in intelligent people

only in people who are meditating
in people who are aware of them
selves

47. If you write down whatsoever is going
on at any moment, you are in for a
great surprise. Identify the clause in the
underlined part of the sentence given
above :

(A) Adverb clause of condition
(B) Adjective clause

(C) Noun clause

(D) Adverb clause of time

48. After reading the passage, it can be
inferred that ultimate awareness

(A)
®)

can be achieved by practice

isnotdoingbutsomethinghappening
automatically

©
(D)

can be taught only by a Guru
can be achieved only through
truthfulness



49.

50.

51.

52.

53.

Arrange the following steps in right
order :

(M
@
3)

awareness of moods
awareness of thoughts

awareness of peace between mind
and body

awareness of the body

(1, (2, (3),

), (2),(3), (M)

© 4).(3),2.M

D) 4),(3),®. (2

According to the passage, which of the

following things must you do if your body
is very tense ?

“)
A)
B)

(1) Runamile

(2) Getinvolved in a vigorous exercise

(3) Just watch your body as a first step

(4) Just watch your mind

A) (M)

(B) (1)and (2)

© G

D) (3)and (4)

Read the following statements :

(1) A mad mind can be cured

(2) Itisimpossible to lead a meaningful
life without being meditative

(A) (1) is true and (2) is false

(B) (2)is true and (1) is false

(C) Both (1) and (2) are false

(D) Both (1) and (2) are true

The phrase ‘move in sleep' in para 1

means :

(A) walk while asleep

(B) being unaware

(C) being alert

(D) listening to your mind

Which of'the following words is opposite

in meaning to ‘subtle’ as used in ‘a subtle
music pulsates in your body' (Para 2)?

(A) nice
(B) precise
(C) fine
(D) crude

Direction (Q. No. 54-60)

Read the following passage and answer the
question that follow by choosing the most
appropriate option from the ones given.

@

It is frequently assumed that the mechani-
zation of work has a revolutionary
effect on the lives of the people who
operate the new machines and on the
society into which the machines have
been introduced. For example, it has
been suggested that the employment of
women in industry took them out of the

()]

54.

SS.

household, their traditional sphere, and
fundamentally altered their position in
society. In the nineteenth century, when
women began to enter factories, Jules
Simon, a French politician, warned
that by doing so, women would give
up their femininity. Friedrich Engels,
however, predicted that women would
be liberated from the “social, legal, and
economic subordination" of the family
by technological developments that
made possible the recruitment of “the
whole female folk... into public industry."
Observers thus differed concerning the
social desirability of mechanization's
effects, but they agreed that it would
transform women's lives.

Historians, particularly those investi-
gating thehistory of women, now seriously
question this assumption of transforming
power. They conclude that such dramatic
technological innovations as the spinn-
ing, jenny, the sewing machine, the
typewriter, and the vaccum cleaner have
not resulted in equally dramatic social
changes in women's economic position or
in the prevailing evaluation of women's
work. The employment of young women
in textile mills during the Industrial
Revolution was largely an extension of
an older pattern of employment of young,
single women as domestics. It was not
the change in office technology, but
rather the separation of secretarial work.
The increase in the number of married
women employed outside the home in
the twentieth century had less to do with
the mechanization of housework and an
increase in leisure time for these women
than it did with their own economic
necessity and with high marriage rate
that shrank the available pool of single
women workers, previously, in many
cases, the only women employers would
hire.

CTET (6-8) 29-12-2022
Before the Industrial Revolution, the

majority of women's work was done in
which of the following settings ?

(A) Textile mills

(B) Private households

(C) Offices

(D) Factories

The author mentions all the following

inventions as examples of dramatic
technological innovations EXCEPT the

(A)
®)
©
(D)

sewing machine
vaccum cleaner
typewriter
telephone

56

57.

58.

59.

60.

. According to the passage, before the 20
century many employers :

(A) did not employ women in factories.
(B) tended to employ single rather than
married women.

(C) employed women in only those jobs
that were related to women's
traditional household work.

(D) hired women only when qualified
men were not available to fill the
open positions.

The employment of young women
in textile mills during the Industrial
Revolution was largely an extension of
an older pattern of employment.

Identify the clause in the underlined part
of the sentence :

(A) Principal clause
(B) Noun clause
(C) Adverb clause
(D) Adjective clause

Which of the following words is similar
in meaning to ‘innovation' as used in the
passage ? (Para 2)

(A)
(B)
©
D)
Which of the following words is opposite
in meaning to ‘liberated’ as used in the
passage ? (Para 1)

(A) released (B) rescued

(C) confined (D) saved

Read the following sentences:

termination
mechanization
tradition

stagnation

(1) Before the 20'" century, many
employers resented technological
innovations that would radically
change women's role in the family.

(2) Before Industrial Revolution, women

were employed only as domestics.

(A) (1) is true and (2) is false

(B) (1) is false and (2) is true

(C) Both (1) and (2) are true

(D) Both (1) and (2) are false

Direction (Q. No. 61-67)

Read the passage given below and answer
the questions/complete the statements that
follow by choosing the appropriate options
from the given ones.

1. Celebrities advertising products is nothing

new. In fact, it has been part of our lives
for years. Even before the 2000’s, you
couldn’t sit through a commercial break
without seeing the teen pop icon of that
time, Britney Spears, endorsing a soft
drink. The legacy was later continued by
the most famous celebrity we know of,
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Beyoncé. She was paid millions to promote
the carbonated drink, which outraged
health advocacy groups. Many concerned
people questioned her ethics as to why she
was supporting a drink that plays a major
role in causing obesity.

2. With the growing importance of social
media in a shopper’s purchase journey,
companies are evolving and stepping up
the endorsement game across different
channels. With celebrities vouching for
promoting their products, brands can
increase awareness, trust and familiarity,
which are important variables in the
purchase decision making process.

3. Consumers feel more sympathetic towards
a brand, if their products are promoted by
a celebrity they admire or relate to. It’s a
simple psychological effect, people believe
that purchasing a product that’s promoted
by a celebrity they admire, will allow them
to emulate the celebrity’s desired traits
or attract similar people in to their lives.
They will associate the celebrity’s success,
beauty, athletic skills with a particular
product.

4. Brands are taking advantage of that by
increasingly utilising the social media
communities of celebrities. Social media
is a way for consumers, in particular,
those of younger demographics, to engage
and build intimate connections with the
celebrities they admire and follow.

61. Read the following statements :

(a) The trend of celebrities advertising
products started in 2000.

(b) However, the trend is no longer so

popular with the current generation.

(a) is true and (b) is false.

(a) is false and (b) is true.

Both (a) and (b) are true

Both (a) and (b) are false.

[CTET (6-8) (Lang. 2) 08/01/2022]

62. How can brands increase their sales?
(A)
B)

(A)
(B)
©
(D)

By selling their products cheaper.
By making people familiar with their
products.

By discouraging the endorsement
game.

©
(D) By winning over the sympathy of
health advocacy groups.

[CTET (6-8) (Lang. 2) 08/01/2022]

63. Read the following statement :

(a) Most soft drinks are carbonated
drinks.

(b) They can make you fat, in a way that
is not healthy.

(c) Celebrities become famous by pro-
moting soft drinks.

(A) (a) and (b) are true and (c) is false.
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(B) (a) and (c) are true and (b) is false.
(C) (b) and (c) are true and (a) is false.
(D) Only (b) is true.

[CTET (6-8) (Lang. 2) 08/01/2022]

64. Demography is the scientific study of :

(A)
(B)
©

geographical disturbances in an area
wild animals
changing number of births and deaths
in a community
marine life
[CTET (6-8) (Lang. 2) 08/01/2022]
65. ‘Emulate’ in para 3 is used as a/an :

(A) Noun (B) Adjective

(C) Adverb (D) Verb
[CTET (6-8) (Lang. 2) 08/01/2022]

66. Which word in para 1 means the same

(D)

as:
A strong feeling of shock and anger’.
(A) obesity (B) Ethics

(C) outrage (D) advocate
[CTET (6-8) (Lang. 2) 08/01/2022]

2.

67. “which are important variables . . . .. in
para 2 is an example of :
(A) adverb clause
(B) noun clause
(C) adjective clause
(D) principal clause
[CTET (6-8) (Lang. 2) 08/01/2022]

Direction (Q. No. 68-75)

Read the passage given below and answer
the questions complete the statement that
follow by choosing the correct options from
the given ones.
Today’s youth want name, fame and affluence
without outing in required efforts. They run
after jobs and expect high salaries. They are
not willing to start a small business of their
own. They can argue that it requires money.
But banks are ready to fund their projects. The
other argument can be that it require practical
knowledge. But one can work part-time or as
an intern to some firm in order to gain practical
knowledge. Government also provides training
to the entrepreneurs willing to start their own
business. One’s own business can range from
a grocery shop, a coaching centre , a computer
institute, or so. Success of the venture very
much depends on entrepreneur’s ability, hard
work, dedication and grit. So, One should not
wait for an ideal job, rather think of starting
his/her own business. One has to climb the
steps slowly and steadily to reach the apex.
It may help them to load a stable and normal
life and acquire a good carrier. We can also
reduce unemployment by self-employment.
The youth should be job creator rather than
job seeker. Parents and teachers should jointly
own responsibility of children. Parents should

be aware of their children’s needs. They should
gather information about the various areas that
their children can venture into. Schools and
colleges should invite the counsellors and
professionals to guide the students. They can
help them in choosing the right career. Future
of the country lies in the hands of the youth.
Their betterment would be tantamount to the
betterment of the county as a whole.

68. How can school/college help youth to
choose the right career?

(A) School/College may guide parents
about their children’s needs.
School/College should invite
counsellors and professionals to
guide the students.
School/Colleges should provide
information to students about
various areas

B

©

(D) School/College may encourage
students to get computer literate

[CTET (6-8) (Lang. 2) 20/12/2021]

69. To start a small business one requires :

(a) Money

(b) Training & skills

(¢) Practical knowledge

(d) Along time

(A) (a) and (b) but not (c)

(B) (b) and (c) but not (a)

(C) (c) and (d) but not (b)

(D) (a) and (b) but not (d)

[CTET (6-8) (Lang. 2) 20/12/2021]

70. A successful venture depends on :

(a) Practical knowledge

(b) Training and experience

(c) Well paid works

(d) Huge funds

(A) (a) and (b) but not (c)

(B) (b) and (c) but not (d)

(C) (c) and (d) but not (a)

(D) (d) and (a) but not (b)

[CTET (6-8) (Lang. 2) 20/12/2021]

71. Youth should choose entrepreneurship as
career option because :

(A)
®)

It gives name, fame and affluence

It may help them to lead a stable and
normal life

©
(D)

It is an easier career option
It can take them quickly to newer
heights
[CTET (6-8) (Lang. 2) 20/12/2021]
72. ‘The youth should be job creator rather
than job secker ‘How can this approach
work for the betterment of the country?
(A) It would generate huge money
(B) It would reduce unemployment by
self-employment



(C) It would help youth to be business
owners

(D) Itwould boost up the youth’s morale
[CTET (6-8) (Lang. 2) 20/12/2021]

73. Youth is not willing to start small business

of their own because :

(a) The success growth is very slow

(b) It requires fund and practical
knowledge

(c) Government discourages small
businesses

(d) It needs lots of dedications and grit

(A) (a) and (b) are correct

(B) (b) and (c) are correct

(C) (a)and (d) are correct

(D) (b) and (d) are correct
[CTET (6-8) (Lang. 2) 20/12/2021]

74. ‘Their betterment would be tantamount

The underlined word means the same as :

(A) Tangible from (B) Tasteful for

(C) Equivalentto (D) Different from
[CTET (6-8) (Lang. 2) 20/12/2021]

75. ‘Today’s youth want name, fame, and
affluence ..........
Choose the word which is opposite in
meaning to the underlined word

(A) Importance
(B) Impoverishment
(C) Property
(D) Weakness
[CTET (6-8) (Lang. 2) 20/12/2021]

Direction (Q. No.76-83)

Read the passage given below and answer
the questions that follow by choosing the
correct/most appropriate options.

The leopard in India is struggling for survival.
In the last 20 years, the natural forests of India
have sharply diminished because of illegal
encroachment, and enormous amount of
illegal mining and agricultural conversions.
Millions of farm animals graze and degrade
leopard habitat across this country and
sharply reduce the availability of natural food.
Blasted and battered in its natural habitat, the
leopard has nowhere to go. Our nation has no
vision or bureaucrats have seldom thought
or implemented a land use policy that could
have kept wildlife safe. With 1.3 billion people
desperate for land and natural resources, the
leopard has been cornered. Many patches of
remnant forest have little food for the leopard
to eat. He is then forced closer to human
habitation, starting a vicious cycle of man-
leopard conflict. Around human populations,
the leopard, now hungry and desperate, lives
on stray dogs and small cattle. In daytime
the leopard finds a patch of trees or degraded
waste land to shelter in. It can vanish in such a

patch and remain invisible. As the sun sets, it
moves towards human settlements encounters
man, and if detected, is chased, battered with
sticks and stones and badly injured or killed.
To escape, it can race in to a village hut or
someone’s house. Sometimes, a forest team
arrives and tranquilises it to take it either to
a nearby forest where it is released or to a zoo
where it usually dies. Huge errors are made
in releasing leopards into forests especially if
they are non-killers or man eaters as in their
struggling state they continue to attack man
who in their cycle of memory, has become
their predator.
76. Natural forests in India are decreasing as
aresult of :
(A) Mining has become difficult.
(B) There is less land for agriculture.
(C) The leopard is fast losing its habitat.
(D) There is not enough grassland for the
cattle.
[CTET (6-8) (Lang. 2) 21/12/2021]
77. Leopard has nowhere to go because :
(A) politicians and bureaucrats are anti-
wildlife.
(B) our increasing population has
grabbed its habitat.
(C) its natural food has been blasted and
battered.
(D) there are drought like conditions
everywhere.
[CTET (6-8) (Lang. 2) 21/12/2021]
78. When the forest cover decreases :

(A) the leopard becomes hungry and
desperate.
the leopard has to live on the trees.

the farmers lose their agricultural
land.

even the birds feel the heat.
[CTET (6-8) (Lang. 2) 21/12/2021]
79. The leopard starts visiting the villages
because :
(A) the deer, is natural food has become
clever.

(B
©

(D)

(B) most of the wildlife has migrated to
the villages.
man hides in village huts.
it can easily dogs, its favourite food.
[CTET (6-8) (Lang. 2) 21/12/2021]
80. Atnight when the leopard enters a village :
(A) it is chased and beaten by the
villagers.
(B) the dogs bark and announce its
arrival.
(C) the villagers trap it and hand it over
to a zoo.
(D) the police is called and they shoot it
dead.

[CTET (6-8) (Lang. 2) 21/12/2021]

©
(D)

81. What part of speech is the underlined
word in the following expression? In the
last 20 years ..........

(A) Adverb (B) Determiner
(C) Pronoun (D) Verb
[CTET (6-8) (Lang. 2) 21/12/2021]

82. What part of speech is the underlined
word in the following expression?This is
when it .......... ’

(A) Adverb (B) Pronoun
(C) Conjunction (D) Adjective
[CTET (6-8) (Lang. 2) 21/12/2021]

83. ‘forest cover has sharply diminished’.
The underlined word in the above
expression means the same as :

(A) quickly (B) bluntly
(C) lazily (D) dangerously
[CTET (6-8) (Lang. 2) 21/12/2021]

Direction (Q. No. 84-92)

Read the passage given below and answer

the questions/complete the statements that

follow by choosing the correct options from

the given ones.

A survey conducted by Antony Synott at
Montreal’s Concordia University asked
participants to comment on how important
smell was to them in their lives. It became
apparent that smell can evoke strong
emotional responses. Ascent associated with a
good experience can bring a rush of joy, while
a foul odour or one associated with a bad
memory may make us grimace with disgust.
Respondents to the survey noted that many of
their olfactory likes and dislikes were based
on emotional associations. Such associations
can be powerful enough so that odours that
we would generally label unpleasant become
agreeable, and those that we would generally
consider fragrant become disagreeable for
particular individuals. The perception of smell,
therefore, consists not only of the sensation
of odours themselves, but of the experiences
and emotions associated with them. Odours
are also essential cues in social bonding.
One respondent to the survey believed that
there is no true emotional bonding without
touching and smelling a loved one. In fact,
infants recognise the odours of their mothers
soon after birth and adults can often identify
their children or spouses by scent. In one
well-known test, women and men were able
to distinguish by smell alone clothing worn
by their marriage-partners from similar
clothing worn by other people. Most of the
subjects would probably never have given
much thought to odour a saclue for identifying
family members before being involved in
the test, but as the experiment revealed, even
when not consciously considered, smells
register. In spite of its importance to our
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emotional and sensory lives, smell is probably
the most undervalued sense in many cultures.
It is true that the olfactory powers of humans
are nothing like as fine as those possessed
by certain animals, they are still remarkably
acute.

84. The above research tries to establish the
fact that

(A) we are surrounded by odours all the
time.
(B) asense of smell is learnt.
(C) we make use of smell without
realizing it.
(D) male and female sense of smell is
different.
[CTET (6-8) (Lang. 1) 24/12/2021]
85. The odours generally labelled as unplea-
sant may be considered fragrant for some
individuals because of :
(a) the cultural association with a
particular fragrance
(b) the emotional association with a
particular fragrance
(c) the physical association with a
particular fragrance
(d) the sensational association with a
particular fragrance
(a) and (b) are both right
(b) and (c) are both right
(c) and (a) are both right
(d) and (b) are both right
[CTET (6-8) (Lang. 1) 24/12/2021]

86. Odour does not generally play any role
in:

(A)
(B)
©
(D)

(a) making marriage matches.

(b) identifying family members.

(c) creating a bond between infants and
mothers.

(a) is right and (b) is wrong

(b) is right and (c) is wrong

(c) is right and (a) is wrong

Both (a) and (b) are right

[CTET (6-8) (Lang. 1) 24/12/2021]

87. The experiment concluded that olfactory
power of a human being is :

(A)
B)
©
(D)

(A) quite discerning
(B) yet to be defined
(C) a physical reaction
(D) almost damaged
[CTET (6-8) (Lang. 1) 24/12/2021]

88. Study the following statements :

(a) Odour sometimes helps in creating
social associations

(b) Aperson’s cloths can also help us in
identifying him

(A) (a) is right and (b) is wrong

(B) (b) is right and (a) is wrong
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(C) Both (a) and (b) are right
(D) Both (a) and (b) are wrong
[CTET (6-8) (Lang. 1) 24/12/2021]

89. Which one of the following words is
most opposite in meaning to the word
‘undervalued’ as used in the phrase :
*the most undervalued sense ..........

(A) glorified (B) endeavoured
(C) praised (D) prized
[CTET (6-8) (Lang. 1) 24/12/2021]

90. Which of the following words is most
similar in meaning to the word’ grimace’
as used in the phrases “may make us
grimace with disgust”?

(A) Pull a face (B) Beam
(C) Grin (D) Smile
[CTET (6-8) (Lang. 1) 24/12/2021]

91. The perception of smell, therefore,
consists not only of the sensation of
odours themselves, but of the experiences
and emotions associated with them.

The underlined word is a/an ..........
(A) Preposition  (B) Conjunction
(C) Adverb (D) Noun

[CTET (6-8) (Lang. 1) 24/12/2021]

92. ‘smell is probably the most undervalued
sense in many cultures’.
The underlined word in the above
expression is a/an ..........
(A) Adjective (B) Verb
(C) Interjection (D) Adverb
[CTET (6-8) (Lang. 1) 24/12/2021]

Direction (Q. No. 93-99)

Read the passage given below and answer
the questions/complete the statements that
follow by choosing the correct options out
of the given ones.
She was very inventive, I mean my mother,
and was so often full of new ideas, and had
a particular philosophy of life. Some of her
ideas were particularly wild; others were so
simple and sensible! While translating them
into action, she was thoroughly autocratic, she
believed that children should lead a simple
life, no indulgence at all. Our dining table was
unnecessarily austere. Porridge for breakfast
salted, not sweet and milk to drink. Bread and
butter, nothing delicious for breakfast. I tasted
bacon for the first time in my life at the age of
nearly ten. Itis true that twice a week, we had, at
the end of breakfast, one piece of toast, spread
with a thin layer of that dangerous luxury, jam.
But of course, not butter too. Butter and jam on
the same bit of bread would have been unheard
of indulgence—a disgraceful orgy. The queer
thing is that none of us like it to this very day.
Old habits die hard. But these two glamorous
jam-days have permanently coloured my
conception of Sundays and Wednesdays

which are both lovely darkred days. Of the
two, however, Wednesday at school being also
Drawing class Day, is much redder of the two.
I can’t help but remember that the other day,
Sunday’s jam colour has been considerably
paled down by, of necessity, of going to the
church.
93. In the writer’s opinion, his mother was :
(A) awild genius.
(B) adictator at the dining table.
(C) A simple but sensible woman.
(D) very good at cooking.
[CTET (6-8) (Lang. 2) 24/12/2021]

94. For breakfast we got :
(A) delicious food to eat.
(B) very simple food.
(C) tasty porridge.
(D) toast, egg and bacon.
[CTET (6-8) (Lang. 2) 24/12/2021]

95. Study the following statements :
(a) Twice a week children got buttered
toast with jam
(b) Mother was very indulgent in feeding
her children
(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right
Both (a) and (b) are wrong
[CTET (6-8) (Lang. 2) 24/12/2021]

96. Study the following statements :
(a) From what the family ate it seems
that it was a well to-do family

(b) The children could not develop the
taste for buttered bread and jam

(c) The writer did not enjoy going to the
church on Sundays.

(A) (a)isright and (b) is wrong

(B) (b) is right and (a) is wrong

(C) (b)isright and (c) is wrong

(D) (c) is right and (b) is wrong
[CTET (6-8) (Lang. 2) 24/12/2021]

97. ‘these two glamorous jam days’
The underlined word means the same as :

(A)
(B)
©
D)

(A) ordinary (B) exciting
(C) glaring (D) medium
[CTET (6-8) (Lang. 2) 24/12/2021]
98. Our dining table was unnecessarily
austere does not means that food was :
(A) simple
(C) ample (D) meagre
[CTET (6-8) (Lang. 2) 24/12/2021]
99. ‘I can’t help but remember’
The underlined word is a :

(B) self-denying

(A) Conjunction (B) Preposition
(C) Interjection (D) Adverb
[CTET (6-8) (Lang. 2) 24/12/2021]



Direction (Q. No.100-108)

Read the passage given below and answer
the questions/complete the statements that
follow by choosing the correct options from
the given ones.
Today we find ourselves at the height of our
civilization, our technological development,
and our social and material complexity. These
are all sign of progress. And yet, all is not as
it seems and once in a while it occurs to us to
look into the past to discover our future.
Dholavira is among the two most notable
excavations of the Indus Valley Civilisation
or Harappan Civilisation, which existed
about 4500 years ago. Another site easier
to reach is Lothal, but it has shown signs of
a pale education. Dholavira gives you that
opportunity to observe how while being
surrounded by the great desert of Kutch in a
severe environment, the Harappan civilisation
displays a unique understanding of the mind
: Here we can find the earliest and the best
in the world, a planned water conservation
system. Dholavira, locally known as Kotda
(meaning a large fort), is one of the islands
in the great desert of Kutch. Located in the
north western corner of the Khadir Island,
the city is spread over 100 hectares of semi-
arid land. During the month when the rest of
the desert is submerged by the monsoon, two
water channels culvert near Dholavira. Mausar
in the north and Manhar in the south. The
journey to Dholavira is beautiful, taking you
to the greatest desert salty plains, where you
can find wildlife like chinkara gazelle, nilgai
(blue bull, Asia’s largest antelope), flamingo
and other bird life.

100. Excavations made at Dholavira have
established that Indus Valley civilisation :
(A) had progressed more than what we
have today.
(B) had progressed less than what we
have today.
had progressed as much as we have
today.

©
(D)

had made significant progress.
[CTET (6-8) (Lang. 1) 27/12/2021]

101. When we look into our past we :

(A) can plan a framework of our future
development.

(B) feel proud of our achievements in the
past.

(C) feel proud of what we have achieved
today.

(D) can analyse various factors that are
responsible for our progress.

[CTET (6-8) (Lang. 1) 27/12/2021]

That Dholavira had enjoyed a planned
water conservation system is :

102.

(A) a source of curiosity for us.

(B) shocking for us.
(C) apleasant surprise for us.
(D) akind of disbelief.
[CTET (6-8) (Lang. 1) 27/12/2021]

103. Study the following statements :

(a) Arid surrounding can become an
implement in the way of mental
development.

(b) Lothal was not a seat of great
learning.

(A)

B)

©

(D)

(a) is right and (b) is wrong.

(b) is right and (a) is wrong.

Both (a) and (b) are right.

Both (a) and (b) are wrong.
[CTET (6-8) (Lang. 1) 27/12/2021]

104. Study the following :

(a) Dholavira is not lacking in flora and
fauna.

(b) Mausar and Manhar are sources of
water supply to Dholavira.

(c) Dholavira is part of Khadir island.
(A) (a) and (b) are right but not (c)
(B) (b) and (c) are right but not (a)
(C) (a) and (b) are wrong but not (c)
(D) (b) and (c) are wrong but not (a)
[CTET (6-8) (Lang. 1) 27/12/2021]
In the phrase ‘two water channels’, the
word ‘Channels’ means :
(A) rivers (B) springs
(C) streams (D) lakes
[CTET (6-8) (Lang. 1) 27/12/2021]

‘Antelope’ is a kind of a :
(A) deer (B) cat
(C) leopard (D) cow
[CTET (6-8) (Lang. 1) 27/12/2021]
We often think that all signs point to

progress.
The underlined clause is :

(A) Principal clause
(B) Noun clause
(C) Adjective clause
(D) Adverb clause
[CTET (6-8) (Lang. 1) 27/12/2021]
‘all signs point to progress ‘The underlined
word is a/an ............ .
(A) Noun (B) Verb
(C) Adverb (D) Preposition
[CTET (6-8) (Lang. 1) 27/12/2021]

Direction (Q. No. 109-115)

Read the passage given below and answer
the questions/complete the statements that
follow by choosing the correct options from
the given ones.

105.

106.

107.

108.

My next pet was a pigeon. He was still very
young. He was the most revolting bird to

look at, with his features pushing through the
wrinkled scarlet skin mixed with the horrible
yellow down that covers ‘baby pigeons and
makes them look as though they have been
bleaching their hair. Owing to his repulsive
and obese appearance Larry suggested we call
him Quasimodo and, liking the name without
realising that the word meant ‘imperfectly
moulded’, Tagreed. Owing to his unorthodox
upbringing and the fact that he had no parents
to teach him the facts of life, Quasimodo
became convinced that he was not a bird
at all, and refused to fly. Instead he walked
everywhere. If he wanted to get on to a table,
or a chair, he stood below it, ducking his
head and cooing in a rich but soft voice until
someone lifted him up. He was always eager to
join us in anything we did, and would even try
to come for walks with us. This, however, we
had to stop, for either you carried him on your
shoulder, which was risking an accident to
your clothes, or else you let him walk behind.
If you let him walk then you had to slow down
your own pace to suit his, for should you get
too far ahead you would hear the most frantic
and imploring coos and turn round to find
Quasimodo running desperately after you,
his chest pointed out with indignation at your
cruelty. It was Larry who discovered that
Quasimodo was a musical pigeon. Not only
did he like music but he actually seemed to
recognise different varieties of music.

109. The writer :
(A) Is a veterinary doctor
(B) Enjoys a morning walk
(C) owns azoo
(D) enjoys keeping pets
[CTET (6-8) (Lang. 2) 27/12/2021]
Quasimodo was :
(A) very beautiful to look at.
(B) Not a pretty bird.
(C) afemale pigeon.
(D) anaughty bird.
[CTET (6-8) (Lang. 2) 27/12/2021]
Larry named him Quasimodo as :
(A) he was not fully grown.
(B) the writer had suggested it.
(C) he did not like the bird.
(D) it was an exotic bird.
[CTET (6-8) (Lang. 2) 27/12/2021]

Study the following statements :

(a) Quasimodo was being looked after
by the writer.

(b) Quasimodo believed that he was not
a bird.

(A) (a)is right and (b) is wrong.

(B) (b) is right and (a) is wrong.

(C) Both (a) and (b) are right.

(D) Both (a) and (b) are wrong.
[CTET (6-8) (Lang. 2) 27/12/2021]

110.

111.

112.
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113. Which of the following statements is
correct?
(A)
(B) The writer loved to go for a walk
with the pigeon on his shoulder.
(C) Quasimodo liked to walk alongside
the writer.

The pigeon did not like to be touched.

Beautiful soft fine feathers covered
his body.
[CTET (6-8) (Lang. 2) 27/12/2021]

Which word of the following is Opposite

in meaning to the word, ‘Wrinkled’?

(B) smooth

(C) unironed (D) furrowed
[CTET (6-8) (Lang. 2) 27/12/2021]

‘or else you let him

The underlined word is a/an :

(B) Adverb

(C) Preposition (D) Interjection
[CTET (6-8) (Lang. 2) 27/12/2021]

Direction (Q. No.116-123)

Read the passage given below and answer

the questions/complete the statements that

follow by choosing the appropriate options

from the given ones.

The miraculous success achieved by the
Green Revolution during the late 1960s, by
converting India from grain deficit to wheat and
rice surplus producing country, was followed
by another grand success in milk production.
It has proved to be a boon to the nation, by
helping not only in stabilising milk prices. To
a large extent through increased production of
milk, but also by ending India’s dependence
on milk imports, apart from generating a
regular source of income to the small dairy
farmers and others. In 1973, the Gujarat
Cooperative Milk Marketing. Federation was
born to market the milk products produced by
Cooperative Milk Unions. Anand Milk Union
Limited is symbolic of India’s gloriously
successful cooperative dairy industry. In
1964, a new development took place in
the field of dairy farming in the district of
Kaira in Gujarat, when the number of small
milk producers’ village societies crossed the
number of one hundred as against only two
in mid-1940s. In 1946, Sardar Patel took the
initiative in forming a cooperative society of
small milk producers. After collecting their
surplus milk, the society pasteurised it and
then sent it to Bombay (now Mumbai) market.
To begin with, there were only two village
societies with 150 milk producers. They grew
slowly, and in the meanwhile, a crusader-Dr.
Kurien, appeared on the scene, and injected
a new dynamism to dairying in the Kaira
district. The societies faced a situation of glut
in milk production during the winter season,
which was double or even triple in volume as

D)

114.

(A) uneven

115.

(A) Conjunction
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compared to that of summer. Consequently,
they were not able to sell the entire winter
season’s production of milk. To overcome this
problem, Dr. Kurien planned the establishment
of'a dairy plant to convert the surplus milk into
milk powder to be used during the summer
season for increasing the supply of milk.

116. After Green Revolution, India stopped the
import of ............ .
(A) Pulses (B) Rice
(C) Oilseeds (D) Tea and coffee
[CTET (6-8) (Lang. 2) 29/12/2021]

117. Study the following statements :
(a) Cooperative dairy industry has
helped the common man to buy milk

at a reasonable price.

(b) For a long time India had to import
some of the milk products.

(A) (a)isright and (b) is wrong

(B) (b) is right and (a) is wrong

(C) Both (a) and (b) are right

(D) Both (a) and (b) are wrong

|CTET (6-8) (Lang. 2) 29/12/2021]

Study the following statements :

(a) In1960sand 1970s India performed
a few miracles.

118.

(b) Increased production of rice and
wheat led to an increased production
of milk.

(¢) Gujarat state led the milk revolution

in the country.

(a) is right while (b) and (c) are

wrong.

(B) (b) is right while (a) and (c) are
wrong.

(C) (b) is wrong while (a) and (c) are

right.
(a) is wrong while (b) and (c) are
right.

[CTET (6-8) (Lang. 2) 29/12/2021]

Under the guidance of Sardar Patel,

pasteurised milk was sent :

(A) to Punjab (B) all over India

(C) abroad (D) to Bombay
[CTET (6-8) (Lang. 2) 29/12/2021]

Dr. Kurien gave a new direction to :
(A) village societies of milk producers.
(B) individual milk producers.

(C) traders of cattle that give milk.

(D) milk markets.

[CTET (6-8) (Lang. 2) 29/12/2021]
The word opposite in meaning to ‘surplus’
(para 1) is:

(A) least (B) deficit
(C) loss (D) decline
[CTET (6-8) (Lang. 2) 29/12/2021]

(A)

D)

119.

120.

121.

122. “apart from generating a regular source
The underlined word means the same as :
(A) increasing (B) saving
(C) producing (D) flowing
[CTET (6-8) (Lang. 2) 29/12/2021]

‘A regular source of income . . ......

The underlined word is a/an :

(A) Noun (B) Verb

(C) Adjective (D) Adverb
[CTET (6-8) (Lang. 2) 29/12/2021]

Drection (Q. No. 124-130)

Read the passage given below and answer

the questions that follow by choosing the

correct/most appropriate options.
“Most of my time is spent in my room, French-
plaiting other girls ‘hair’, said Rachel Bufford
of the England women’s rugby team. Burford
and her braided friends then go out in the
rugby pitch where, if you have watched any
of the recent world cup matches, you have
noticed that the women are just as fearless
as their male counterparts. “It has got to the
point now when I feel a bit weird if I don’t do
someone’s hair before a game”, said Burford.
“Some of the girls look really tough with their
hair plaited, so it is also a psychological thing a
victorious thing.” Sadly victory wasn’t tied up
in those braids, the team lost to New Zealand
in the September final, but many of the players
looked fierce like warrior women going into
battle. Plaits are the earliest of hair styles
because before hair cutting and hair dressing.
people obviously had long hair and plaits were
the simplest way of keeping it out of the way,
“says a fashion historian.” “For that reason”,
she says, “we associate plaits with both
women and men, and particularly those who
were involved in athletic pursuits, such as war.
Think of Legolas in” “The Lord of the Rings”
or the super strong Obelix in the ‘Asterix’
cartoons. For women, Boudicca or Valkyrie
plaits seem to enhance their ferocity”, says
cox. It was a practical hair style until we get to
the 19th century when it began to be associated
with female children. Even now, plaits on the
whole have the meaning of the youthful school
girl. Not an image you will associate with
England’s victorious rugby team.

124. Rachel Burford is a/an :
(A) instructor (B) hairdresser
(C) rugby player (D) fearless fighter
[CTET (6-8) (Lang. 2) 21/01/2022]

125. During the World Cup all her plaited
friends :

123.

(A) played fearlessly.

(B) won the world cup.

(C) were well appreciated.

(D) were able to beat the male players.
[CTET (6-8) (Lang. 2) 21/01/2022]



126. In para 2 the phrase, a psychological thing

‘refers to :

(A) winning the game

(B) looking like warrior women

(C) plaiting her friends hair

(D) being fashionable
[CTET (6-8) (Lang. 2) 21/01/2022]

Complete the following statement :

In older days ............ used to plait their

hair.

(A) only men

(B) only women

(C) both men and women

(D) neither men nor women
[CTET (6-8) (Lang. 2) 21/01/2022]

Study the following statements :

(a) Obelix in the A strix cartoons sported
plaited hair.

(b) Today, the girls look really tough

with plated hair.

(a) is right and (b) is wrong

(a) is wrong and (b) is right

Both (a) and (b) are right

Both (a) and (b) are wrong

[CTET (6-8) (Lang. 2) 21/01/2022]

What part of speech is the underlined

word in the following expression?

‘with their hair plaited’

(A) Noun (B) Adverb

(C) Adjective (D) Pronoun
[CTET (6-8) (Lang. 2) 21/01/2022]

‘We associate plaits ............

The underlined word in the above

expression means the same as :

(A) Assemble (B) Relegate

(C) Assert (D) Connect
[CTET (6-8) (Lang. 2) 21/01/2022]

Direction (Q. No.131-138)

Read the passage given below and answer
the questions/complete the statements that
follow by choosing the correct options out
of the given ones.

Initially the milk lake of Kaira district in Anand
in Gujarat was still. The cooperative movement
led by Tribhuvandas Patel, under the guidance
of Sardar Patel began to stir that lake. In due
course of time it overflowed and start spreading
throughout the country. All this would not have
been possible without the steady presence of
Dr. Kurien. Incidentally, Dr Kurien first came
to work with the Dairy Research Institute in
1949, which became an integral part of the
stream of milk consciousness. He took over
an already existing dairy cooperative, run
by Tribhuvandas Patel and mobilised the
Milk Producers’ cooperatives, after office
hours. He totally transformed the concept of
dairying, by making the entire programme as
comprehensive as possible with innovative
methods such as having a network of veterinary
services and cattle breeding centres. India’s

127.

128.

(A)
(B)
©
(D)

129.

130.

Dairy Development Programme started in an
era of acute milk shortage, when milk powder
and butter oil were gifted to India, by the
World Food Organisation, which subsequently
emerged as a tremendous success. Operation
Flood’, a dairy cooperative system evolved
by Dr. Kurien on a national scale, has steered
the country from milk scarcity to surplus, for
other milk products. Under the umbrella of the
National Dairy Development Board, 6 million
dairy owners in 75,000 villages and milk
Producers’ cooperative socicties have been
producing and marketing milk to 500 cities
and towns, throughout India.

131. What did Tribhuvandas Patel do to the
milk lake of Kaira?
(A) He bought all the milk.
(B) He supplied the milk all over India.
(C) He turned it into milk powder.
(D) He started it to make butter.
[CTET (6-8) (Lang. 2) 11/01/2022]

Study the following statements :

(a) Both the Patels worked in the field
to start the cooperative movement.

132.

(b) Real help came from Dr. Kurien.

(c) There was a dairy cooperative even
before Dr. Kurien agreed to help.

(A)
®)
©
D)

(a) is right and (b) is wrong.

(b) is right and (c) is wrong.

(c) is right and (a) is wrong.

Both (b) and (c) are wrong.

[CTET (6-8) (Lang. 2) 11/01/2022]

Which of the following is a true statement?
(A)
(B)

133.
Kaira is part of Anand in Gujarat.
Dr. Kurien worked whole time of
Dairy Research Institute.

(C) Sardar Patel inspired Tribhuvandas
Patel to join politics.

(D) Dairy Research Institute mobilised
the Milk Producers’Cooperatives.

[CTET (6-8) (Lang. 2) 11/01/2022]
Dr. Kurien transformed the concept of
dairying by :
(A) paying proper prices for dairy
products.
offering veterinary services network.

134.

(B)
(C) helping the dairy farmers in getting
better breeds of cows.

Both (B) and (C)

[CTET (6-8) (Lang. 2) 11/01/2022]
‘Operation Flood’ is significant as :

(A) India has started producing surplus
milk.

it has helped millions of dairy
owners.

India has started exporting milk.
Both (A) and (B)
[CTET (6-8) (Lang. 2) 11/01/2022]

(D)

135.

(B)

©
(D)

136. ‘has steered the country from ............
The underlined word means :

(A) reared (B) guided

(C) restored (D) stopped
[CTET (6-8) (Lang. 2) 11/01/2022]

Which became an integral part of . . . .

The underlined word does NOT mean :

(A) inbuilt (B) inherent

(C) missing (D) connecteed
[CTET (6-8) (Lang. 2) 11/01/2022]

137.

138. When milk powder and butter oil were
gifted to India’
The above expression is an example of a/
an ... clause.
(A) Principal (B) Noun
(C) Adjective (D) Adverb

[CTET (6-8) (Lang. 2) 11/01/2022]

Direction (Q. No. 139 to 147)

Read the passage given below and answer
the questions that follow by selecting the

correct/most appropriate options :

Learning a language under any circumstances
require hard work and concentration.
However, the circumstances can make a
difference in both quality and quantity.
Most foreign language students learn in a
classroom, from a text-book. In a classroom,
language learning can be controlled so that
all the necessary structure are taught. Highly
motivated students can thus learn the language
efficiently and quickly. Learning on the streets
and in the markets from experience and need
can be effective although the student learns
only what he happens to need, in a haphazard
way. Some language students find this real-
life situation more meaningful because the
student’s success in fulfilling their needs
depends on their language ability. However,
shop-keepers are more likely to be tolerant of
incorrect grammar than classroom teachers, so
mispronunciations and errors will not matter
much. Nevertheless, the rewards are different
for the type of language learning situations.
They are immediate (goods, bought in a store)
in the real-life but delayed until a quiz or oral
recital for the classroom learner.

The kind of language learnt in each setting
differs too. In the classroom, the student is
more likely to learn the grammatical language
of educated people. The language learnt out
of necessity often lacks the fine details of the
classroom variety and might include informal
expressions such as slang. The people learning
on the street must be easily understood.
Therefore, they might actually sound
more like native speakers — although not
necessarily educated people. So a combination
of classroom instruction and the experience of
using language in the street will result in the
best language learning of all.
CTET (Lang.-I) 8 Dec. 2019 (VI-VIII)
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139. Study the following statements :
(a) Atschool one learns the language of
educated people.
(b) Language learnt on the street
includes the use of.
(a) is wrong and (b) is right.
both (a) and (b) are right.
both (a) and (b) are wrong

(A)
B)
©
(D) (a) is right and (b) is wrong.

Which part of speech is the underlined
word in the following sentence ?

The kind of language learnt in each setting
differs too.

(A) Determiner

(B) Conjunction

140.

(C) Preposition
(D) Pronoun

Study the following phrase. Which part of
speech is the underlined word ?
‘But delayed until a quiz ...........

141.

(A) Determiner

(B) Conjunction

(C) Preposition

(D) Pronoun

What does the word ‘motivated’ mean in
the following phrase ?

‘Highly motivated students can thus

142.

(A) resourceful  (B) muddled
(C) interested (D) intelligent

143. ‘. in a haphazard way.’
The word ‘haphazard’ means :

(B) Safe

(C) proper (D) dangerous

The best place to correctly and quickly
learn a foreign language is :

(A) unorganized
144.

(A) only the market place

(B) both the classroom and the market
place

(C) home

(D) only the classroom.

A text-book :

(A) motivates the students.

(B) teachers what a student needs.

(C) is an inexpensive tool of learning

145.

(D) controls language learning.

Language needs of real-life situations are
fulfilled by :
(A) learning the language structures.

146.

(B) learning on the streets.
(C) learning proper pronunciation.

(D) studying text-books carefully.

Which of the following statements is

not true ?

(A) Real-life situations are more mean-
ingful for language learning.

147.

(B) Classroom learning can be tested in
an oral recital.
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(C) Foreign students learn language
mostly from text-books.

(D) Shopkeepers are intolerant of
incorrect pronunciation.
Read the passage given below and answer
the questions that follow by selecting the
most appropriate options :
One of the unhealthiest emotions is anger. It
destroys our ability to think clearly, properly
and in totality. Anger also has adverse impact
on health. If you ask a selection of people
what triggers their anger, you would get a
wide range of answers. However, whatever the
cause, even a single word spoken in anger can
leave a lasting impression on person’s heart
and has the ability to ruin the sweetness of any
relationship.
A sage once said, "How can there be peace on
earth if the hearts of men are like volcanoes ?"
We can live in harmony with others only when
we overcome anger and make room for peace.
So how can we set about creating that sense
of peace within ourselves ? It starts with the
realisation that we do have the choice to think
and feel the way we want to. If we look at what
it is that makes us angry, we might discover
there is nothing that has the power to make us
feel this way. We can only allow something to
trigger our anger- the anger is a way in which
we resond to an event or person. But because
we are so used to reacting on impulse, we
forget to choose how we want to feel, and end
up reacting inappropriately, leaving ourselves
with angry feelings.
Meditation helps us create personal space
within ourselves so that we have the chance
to look, weight the situation and respond
accordingly, remaining in a state of self-
control. When we are angry, we have no self-
control. At that moment, we are in a state
of internal chaos, and anger can be a very
destructive force.
Stability that comes from practice of meditation
can create a firm foundation, a kind of positive
stubbornness. Others can say whatever they
want, and it may also be true, but we don't lose
our peace or happiness on account of that. This
is to respect what is eternal within each of us.
We give ourselves the opportunity to maintain
our own peace of mind, because let's face it, no
one's going to turn up at our door with a box
full of peace and say, "Here, I think you could
do with some of this today!" There is a method
which could be described as sublimation, or
the changing of form. With daily practice
and application of spiritual principles in our
practical life, experience of inner peace can
come naturally.
[CTET (6-8) (Lang.-I) Sep. 2015]
148. Why should we not get angry with a
friend ?
(A) It affects over health.

(B) It ruins our relationship.

(C) It damages our intellectual ability.
(D) It may give us a heart attack.

149. The antonym for the word, ‘triggers’ is :
(A) prolongs (B) deviates
(C) controls (D) excites

150. The synonym for the word, ‘adverse’ is :
(A) successful (B) unfavourable
(C) similar (D) angry

Which part of speech is the underlined
word ?

151.

(A) Pronoun (B) Verb
(C) Adjective (D) Noun
Meditation helps us create personal space.

Voice in the above sentence has been
correctly changed in :

152.

(A) Personal space has been created by
meditation.

(B) We have been helped to create per-
sonal space.

(C) Personal space is helped by medi-
tation.

(D) Weare helped by meditation to create
personal space.

153. What is anger ?

(A) It is our reaction to an event or
person.

(B) Itisrelease of our pent up emotions.
(C) Itis an effort to avenge ourselves.
(D) Itis loss of control over our temper.

154. Getting angry..............

(A) gives us a feeling of superiority
(B) makes us feel ashamed of ourselves
(C) affects our digestive system

(D) affects the clarity of our mind

155. How can we get peace of mind ?
(A) By accepting life as it comes
(B) By enjoying good healthy

(C) By overcoming anger

(D) Through prolonged medication

156. To overcome anger, meditation helps us by

(A)
®)
©
(D) removing the trigger.

Direction (Q. No. 157 to 165)

Read the given passage and answer the

questions that follow by selecting the most

appropriate option.

The first detailed description of plastic surgical
procedures is found in the clinical text on
Indian surgery, the Sushruta Samhita which
incorporates details of surgical tools and
operative techniques. Sushruta wrote, based on
the lectures of his teacher, the famous surgeon

giving us the choice to think.
remaining in a state of self-control.
offering us a wide range of answers.



king, Devadas. He taught this pupils to try
their knives first on natural as well as artificial
objects resembling diseased parts of the body
beofre undertaking the actual operations. It is
interesting to note that modern surgery stresses
so much upon simulation, models and cadaver
training before actual performance to increase
and improve patient safety. He stressed on
both theoretical and practical training and had
famously remarked once : “The physician who
has only the book of knowledge (Sastras) but
is unacquainted with the practical methods of
treatment or who knows the practical details
of the treatment but from self-confidence, does
not study the books, is unfit to practice his
calling.” Sushruta considered surgery to be
the most important branch of all the healing
arts, and had performed and described in detail
several complicated operations. This include
operations for intestinal obstruction, hernia
repairs, bladder stone, but more importantly,
several plastic surgical operations, including
those for cleft lip and nose reshaping, which
are performed virtually unchanged even today
from his descriptions about 3000 years ago !

[CTET (6-8) (Lang.-T) 21-9-2014]

157. The paragraph focuses on the—
(A)
(B)
©

evolution of medicine in India
life of Sushruta and his work

India’s contribution to medical
science

D)

Sushruta’s training consisted of—

methods of plastic surgery in India

158.
(A) acquiring complete theoretical
knowledge
(B) apprenticeship under a guru
(C) practice on objects similar to human
body parts
(D) focusing on non-surgical procedures
159. The passage gives us details about—
(A) how to perform certain types of
surgery
(B) how to become a good surgeon

(C) how surgery can replace other
treatments

(D) how patients have to be treated after
surgery
160. The closest meaning of the word
‘undertaking’ is—
(A) experimenting on
(B) taking up
(C) trying out
(D) venturing to
161. A word or phrase that can replace
‘virtually unchanged’ in the text is :
(A) literally unknown
(B) very well known

(C) factually unaltered
(D) slowly evolving

162. Anantonym of the word ‘complicated’is :
(A) facile (B) stressful

(C) unknown (D) mysterious

163. The personal quality which Sushruta
warns against is—
(A) arrogance

(C) rudeness

(B) cowardice
(D) ignorance

164. According to Sushruta, .......... are above

all healing arts.

(A) observation and counselling

(B) surgery and post-operative care

(C) timely administration of medicine
and counselling

(D) study of patient’s condition

165. The writer’s objective here is to—

(A) present a short history of ancient
surgical practices

(B) outline about India’s potential in the
medical field

(C) draw attention to Indian traditional
knowledge

(D) compare modern and ancient
practices

Direction (Q. No. 166 to 172)

Read the passage given below and answer
the questions that follow by selecting the
correct/most appropriate options.

The strength of Indian democracy lies in its
tradition, in the fusion of the ideas of democracy
and national independence which was
characteristic of the Indian national movement
long before independence. Although the
British retained supreme authority over
India until 1947, the provincial elections of
1937 provided real exercise in democratic
practice before national independence. During
the Pacific War, India was not overrun or
seriously invaded by the Japanese and after
the War was over, the transfer of power to a
government of the Indian Congress Party was
a peaceful one as far as Britain was concerned.
By 1947, Indianization” had already gone far
in the Indian Civil Service and army, so that
the new government could start with effective
instruments of central control.

After independence, however, India was
faced with two vast problems, the first, that
of ethnic diversity and the aspirations of sub-
nationalities. The Congress leadership was
more aware of the former problem than of
the second; as a new political elite which had
rebelled not only against the British Raj, but
also against India’s social order; they were
conscious of the need to initiate economic
development and undertake social reforms, but
as nationalists who had led a struggle against
alien rule on behalf of all parts of India, they

took the cohesion of the Indian nation too much
for granted and underestimated the centrifugal
forces of ethnic division, which were bound
to be accentuated rather than diminished
as the popular masses were more and more
drawn into politics. The Congress Party was
originally opposed to the idea of recognizing
any division of India on a linguistic basis
and preferred to retain the old provinces of
British India which often cut across linguistic
boundaries; it was only in response to strong
pressures from below that the principle of
linguistic States was conceded as the basis of
a federal ‘Indian Union’. The rights granted
to the States created new problems for the
Central Government. The idea of making
Hindi the national language of a united India
was thwarted by the recalcitrance of the
speakers of other important Indian languages
and the autonomy of the States rendered
central economic planning extremely difficult.
Land reforms remained under the control of the
States and many large-scale economic projects
required a degree of cooperation between
the Central Government and one or more of
the States which it was found impossible to
achieve. Coordination of policies was difficult
even when the Congress Party was in power
both in the States and at the Centre; when a
Congress government in Delhi was confronted
with non-Congress parties in office in the
States, it became much harder.
[CTET (6-8) (Lang.-IT) 9 Dec. 2018]

166. Choose the word which is most nearly the

same in meaning as the word ‘thwarted’

as used in the passage.

(A) Accepted

(B) Diverted

(C) Opposed

(D) Implemented

167. Choose the word which is most opposite

in meaning of the word ‘conceded’
as used in the passage.
(A) Denounced
(B) Withdrawn
(C) Criticized
(D) Rejected

168. Why was central economic planning
found to be difficult ?

(A) Autonomy given to the States in
certain matters

(B) Lack of will in implementing land
reforms

(C) Multiplicity of States and Union
Territories

(D) Lack of coordination in different
government departments

169. Which one of the following problems

was India faced with after independence ?

(A) Improper coordination of various
government policies

(B) Increasing the production from a
very low level
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(C) Military attack from across the
border

(D) Lack of coordination between the
Central and State Governments

Which one of the following issues was

not appropriately realized by the Central

Government ?

(A) Implementation of the formulated
policies

(B) Centre-State relations

(C) Ethnic diversity of the people

(D) A national language for the country

Which, according to the passage, can be

cited as exercise in democratic practice

in India before independence ?

(A) The Indianization of'the Indian Civil
Service

(B) Several democratic institutions
created by the Indian National
Congress

(C) The handing over of the power by
British to India

(D) None of the above

172. Which one of the following statements
is not true in the context of the passage?
(A) The political elite in India rebelled

against the British Raj.

The Congress leadership was fully

aware of the problems of ethnic

diversity in India at the time of

independence.

The Congress Party was originally

opposed to the idea of division of

States on linguistic basis.

Economic development and social

reforms were initiated soon after

independence.

Read the both passage given below and

answer the questions that follow by selecting

170.

171.

(B)

©

(D)

the most appropriate option.

The nation is proud of its scientists and
scholars, though, of course, many of them
would reply that they doubt whether the nation
cares for them at all. When asked why many
of our best and brightest have gone abroad to
make a living, they opine that this is because
as a nation we have not cared for the talented
and meritorious.

There is some truth in what they say. However,
by and large, compared to the situation
before independence, government assistance
has provided a tremendous opportunity for
higher education. If today Indian scientists,
technologists and scholars in different fields
are respected worldwide, it is because of the
education system we have built up.

Our excellence is evident within the confines
of the limited opportunities which are
available for research and development in

14 | AGRAWAL =XAMCART

the universities and the national R and D
laboratories. We believe and appeal that
scientists, researchers and scholars should shed
their pessimism. There are many reasons for it.
We know the problems they face, especially
the younger ones and also those who are not
in positions of power in these institutions, the
so-called middle levels and the lower levels.
We appeal to these people to think big, because
they are the only ones who understand the
forces of technological modernization and the
new energies that can be unleashed through
technologies. They also have the capability to
absorb the knwoledge base which is growing
at an explosive rate.
[CTET (6-8) (Lang.-IT) 22-02-2015]

173. What is ironic about our pride in our

scientists ?

(A) They go abroad to make a living

(B) They are talented and meritorious

(C) They are held in high esteem

(D) The nation cares for them

174. What happens to our best scientists ?

(A) They get government grants

(B) They don’t get respectable jobs here

(C) They start teaching in colleges

(D) They start doing research

After independence how has the situation

changed in India ?

(A) The government is sending scientists
abroad

(B) Our system of higher education has
improved a lot

(C) Foreign scholars are teaching in our
universities

(D) The scientists are given Padma
awards

Our scientists have proved to be excellent

175.

176.

even if

(A) we have excellent research centres
(B) we offer them excellent opportunities
(C) we pay them well

(D) we offer them limited opportunities

177. The writer wants our scientists to :

(A) go abroad to make a living

(B) be pessimistic in their approach

(C) be optimistic in their attitude

(D) become part of the scientific
community

178. Which one of the following is true ?

(A) Our scientists are respected all over
the world

(B) Our scientists are not talented

©

We have the best research facilities
(D)

in India
We care for our scientists
The writer makes an appeal to

179.

(A) neither the middle nor lower level
scientists

(B) the lower level scientists only

(C) the middle and lower level scientists

(D) the middle level scientists only

180. The phrase, ‘at an explosive rate’ means
(A) at an abnormal speed
(B) with the help of an explosion
(C) atnormal speed
(D) at a great speed

181. The word opposite in meaning to

‘unleashed’ is
(A) controlled
(C) unfastened
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AR B T | 59 STRHe 7 o A B
FHRTSAT B GeTsT DI Yo 30T &, I T
&I TP GoTITHS 3qeT B |

[CTET (6 to 8) (Lang. 1) 04.01.2022]

47. TER & ITAR AP B AHRIAD

eraTREl & o5 ot IR AR weel 87
(A) SRR (B) fegorn
(C) o (D) g

48. 9RT B YITH BT YN BT S ?
(A) TCT (B) SUSTS
(C) e (D) srfergfic e

49. e Ifte 9 9Ra fafdgarsi & <=
T Aot fafaerar 9 et 3
(A) gRem &1 fafqerar
(B) & & fafqeran
(C) w1 ot fafaerar
(D) SIetary @ fafderar
50. IR = & G Y- BT AT BEl
EEERES SR
(A) @ ¥ Egd R aew § Ry T4
SEY
(B) wHTeg & Jrfigfic arel &3 a6
(C) TSt & IUSIS, Y Tb
(D) IR & et 3R GO 94— TH
51. Tene W fR geR @ fAfsar @ 9
& & T B?
(A) enfdi®
(C) difg®

(B) ™IS
(D) Arifers

Ry | 3



52. YRA H 3% ARPIH SUURN [IHRia
B BT AT BRI &7
(A) 39S Y9 Bl fa=mer |
(B) S IS O aren fafqern
(C) <eraTRyl ot fgum.
(D) SR T oAb
53, ‘WO’ ¥R o1 e faww B
(A) WET+ e (B) Wl + F
(C) Hg+3me™ (D) WH + 3™
54, ‘TeeIfad SR YR g, Nfhd A qrapt
-
(A) w3g (B) gferss
(D) fag (C) bt
55, "HPID & H YT T—
(A) ¥ B)®
(C) fi® (D) &1

fT T T B SEYde ufen dem 9o e
T o foTT e ST fadhed Bl 9 Hiforg |
ATST BH IMTOIET B 8RB STl 791 %8 & | T
T B B8 AP © 1 M SR B BT 91d
AR A ¥ ega g 8 @1 87 a1 8F &l
TR TP & b ARAI, AHITD AT T TR
R AR AR, TR $9el &R TR $M e
U ? 1 & T I forg deel oy 99 WX
A DX b &7 AT TR &H S Tahedl ae=rl
T el fa@mar dRa & ?
¥ MU & I fhed S & TRB o
ST AT, STel | H S g H S §
ITH A ST e T € e 57 gaax
AT EF TSI | Uob To—Tory 3medl & forw &andy
e TR & SITET §B 781 ¢ | ST Fertrar
TSI ST | TR SR THeH el & 3R
T S TR B fb 9 s & fher A areh
TIHhdA BT & | TR AT BT Aol ST SR
T S | H ST ST ]Sl BAI | 519 H ST
e fqenedf o, 79 TR RN iR fegw
THER TS BIRENT F SAR fEX I& TearT Uar
PRAT TTE I TF Tl BT Ford HRA1 RS ARy
TS el B & faRweR ¥ e e,
e AT, 3] THS arel B & fPmIiieR
T | eSS fihe, 31 FiTed, 310l JIfY, <!
fezren anfe w9 R AR sRe § & |
B TR 31T 9gd B 3N T & | FSe] & a8
R PHeTai = g Y B 5 |
[CTET (6 to 8) (Lang. 2) 06.01.2022]
56. oGS B I BT vy &
(A) oS BH T &
(B) o1& T 18l ©

4 | AGRAWAL =XAMCART

(C) & el &l BIS 3 §
(D) B w@aH B o &
57. ‘el Sl BT SR T
(A) BT 3R AR BT A1G BT
(B) \MIRI® AR R we= FoRr o
(C) I fIaR axa 3y vl o
(D) Sfd ol &1 srgurer H3
58. g = fthed! bl THEN BEl & Fifh—
(A) ST FHEIT H IRATIDHAT BT 9T
BT
(B) ST@! BRI | Siae S 9 YRom
firerh B
(C) ST P11l § O AR geef TR
AT
(D) IS FEIH A TP BT TG
ARG Hl & |
59. TGP ST fhedl &1 Holl &l Sl
JrEdl Fih—
(A) fohe If¥T BT TRIEH Bl A1ETH
(B) fohed YoM 31T &1 SR &
(C) forat arelifdaT &1 aTed &
(D) fohed Sepe S &1 SR &
60. TGS BT T R B DA I T4
& 3 &7
(A) AP DHaar RSl B faRwIfeR
Bl
(B) el TR Sadl TS &f faRmiferar
Bl
(C) HA-oIE aaal RISl o faRmiarR
Bl
(D) HaE—oleH
e ¥ |
61. SIS & a1 AR o ... @8 H
EESASINACI RS
(A) frF®en
(C) Parai
62. T wreg o U IR Y ST B JANT
BoT 87
(A) srfeRa (B) Tt
(C) faemeit (D) FaH
63. 'Rrep’ o1 qAFIef vrsg TE B
(A) Far (B) Swr@
(C) =df (D) STt

fT T eI B SYde ufen qen gu e
TR o foTT e SUYRh fddhed Bl = Hifory |
FHouT, 9% iR ORS¢ Y= o1 & 1 37 qoif
1 I e A 78, 3¢ M I 3 Bl
&1 S7aT # BeC P9 T8l 31 &, fhad el 31,

dHad S Bl

S 0N B FRATC TR BT TS & 1§72 Sira
H SARTT ISd1 8, TG T 0N BT 8H A 6D
Y BH AR & | 37 0N BT S HI I8 SFTAR
DI ST BRI &7 T TAR A, S 778 |
T SR 1 &9 B ¥ o & | S9fery Ak &
| T GO A AT © AT 379 $ el
P ST RIETH AHT, ST [ AT, T 3726,
FIH I TS A | H, T SR Ho0n W T
fth & forw SRS T U1 YT ® N 57 A
T | ORT T8 O T A T 9 SR AT o,
RS & 37 q9P! Wfh <l & | IR T A I B
T &R B & erT | 3T O 9 31 S
TG & TP YT MHR Yabe BT a11Y | TR
17 P! I8 Tfh & B9 Teb 9, TRIa, Rerfe
Pl SR T ST e o Fbal & | T g
3@ & f 3o ol Sitae 7 o1 oiR Hrdwifee
S #  TAR 9 TR 0 S 99 O B

[CTET (6 to 8) (Lang. 2) 06.01.2022]
64. T | TSl B fhw w9 H wRad

e -

(A) BRTF S w9 H

(B) IS TS & w4 H

(C) & RfaM & w9 H

(D) ©R d =fe & wa H
65. TEITer # 35 Ui b e A TS §?

(A) FouT, faae, fHegs

(B) fagas, &, wfmemeh

(C) woum, fag®, &R

(D) %N, fa9%, Farar
66. U &I TEAH B B 57

(A) NHA BE W

(B) W%l BF 4R

(€) g v A

(D) g ¥ |
67. T ¥ 5 0T BT AR AT T §?

(A) FBUM B (B) U9 &

(C) =g B (D) & @
68. TSl & URT SMUR e HRAT @Y,

Rifp—

(A) Siqd: g f 7T &

(B) 4 91g ¥ i 971 9l ®

(C) 3 9ga o R &

(D) 9 ReR firxt B ¥
69. 71 & & D1 e ¥ o= 87
(A) W (B) FBUN
(€) & (D) frers
70. TP v A AT U™ B OGN A8 A
Hepell ?
(A) fr=t (B) =7
(C) feea (D) ¥



fr=faRaq Temer @ TeaR I® T Y &
I SYYh SR aTel fddeq 31 g |
el B PRUT YOI, YU Bl T AT
PR G E| M B I T H TG B R
YHT & Rt F ey fear o e v | e
PR RATERVT H e & GRT Hebl S arell g
AT Ol Y& T | @, S AT, Hag-fmior
S B T S ToTU STURGRN © | & WRA H OR
THEIE | IS A g B THE § IRFAT T
S 1 feetl e o g &1l I qHIfad BRal & |
e fazary fdan e & b e {7 & uropfrs wu
A A9 gRT {5 W1 72 gRacH o s ammme
B T IR AIRRT & gRI AR T
B W B R B
qAER H gel ShY BRA H D, FEBR
TE—IARISS AR LS Fobles Sl I
N w2 & o fob sREm o M |
AR et & T 13 I i iR e
Ofde Tl & T | N Y1 Bl B el & A
™ o & T ¥ IR IR 2, ofed o @
THI F M7 o1 B AP SE—ANASS
I SIRM AehIES & & BT UGT B |
e} B S B | 3 BT aTeTaxol § B oS qH
TH ORA V&0 &1 39 YBR &7 I & b A7
PRI B AT H TRIET IS Th AR 9
& famior 7 wers & e T

[CTET (6 to 8) (Lang. 1) 21.12.2021]
71. IR’ BT |fYy faess arm-

(A) YT + TR

(C) eryfer + anfera

(B) & + TR

(D) ST + SR
72. ‘G BT AT T

A) @F (B) @re

(C) @ (D) e
73. Y1 G B AU HIRON H 2t &l

3

(A) el 3R qoH

(B) QTR iR i R

(C) woReel | ok a1l B

(D) TRTTE & 9& | ghg
74. T¥FH AN P ST IATRIES B Rl

SGCAICRIERI R

(A) BREF! H Ygu0

(B) & T AT

(C) Y1 U BT

(D) SIS & yfifosan e
75. Sifd®’ Tea H A WeR AR YT FqT 87

(A) 39+ 3B (B) W + faw

(C) Mg+ & (D) 9 + &

76. ‘g & HUI AMIERY H T FHI TP AR
gl

STYh BRE BT TR &
(A) wre (B) §g®
(©) fas (D) Sfeat
77. IRA & & —UE o & b ¥ & eiaia
3T ?
(A) STHHB (B) AHH®
(C) fgwva (D) WRumed®

78. TERT | I{Ya iR g @1 AR
TN Sfer T T | S 9 T A A 1l
TS qEag |
(A) ST & TAA T H
(B) 7T T &N
(C) 9PfT & Praf
(D) =&Y foham <11 <& B

79. fop=T BUT ATTEROT § B! FHT TP IR
® E?

(A) smhfsan

(B) eI AehigS
(C) AwIEs

(D) AR TR—INRIES

frfafed Temr @ year ® T Y &
| SUGeh SR dlel fadhed gy |
HAIGHTT 1 fenerdy ureaaat # Heaqul oI
¥ I faeera 3 vermn W drer v favg A
T, 3 fawll 1 A o1 wemd 9 5| A
F WA | I AT Prerel A BT o ¥,
T o1 I &3 Y HareaTal BT wHE W
H o TR HRA B | IR <@ T o R
TTeT H AT B Tag Forar offeres el &, a8
I AR SR e A 37 | 1 AT
PR O ¢ | 9 i | I SUYH & (S o A
H 1ot Serdl, Al AR BT HRal & IE
AT S9! RieT B wemw A & A St
fPT SI aTel fawdi 1 | & 9§ e, 9 R
T W9 ¥ AT B qAT I TWEE 3R YAy
WY ¥ 3IFHRIH B F I B | S BROT N
RIenfa=l 7 39 99 W 9 a1 & & Ren &
HILH AT €1 BT AT | IR TeRiR S o
ST S o foremmerll 3 AT & ez —oTeanad
TR SRR o1 Tl fT S | Sreamden! & ARy
wifth s, wftra, A fasm enfe fawy
@ 1807 TR Bfved Y& & | AT IR U7 DR
B B BRUT qreteh] H g fawl bl G-
o 37 B %8 IR ¢ | 39S M oawdS © 5
AT & ST ST P R8T &l gt o5
HAFHR Tl ST MM STeTepi § AN DRI BT
I 21 | d2H ST Afefch § T, |
A TTRAT, Hed—fh | AT SR 37 gy
H HSITCT 37T |

[CTET (6 to 8) (Lang. 1) 22.12.2021]

80

81.

82.

83.

84.

8s.

86.

87.

. Taermery ure== 3 Arg T &1 foR W
HET T Y, IS q8—

(A) =@ Pl |aifds 0T 8 &

(B) T favg & TR TSTS W &

(C) ARG & 99 PR R &

(D) g sl T e &1 A1ea B §

I fawal A AheqHIsl B THSH B

Prerer AT fhy o Fad &

(A) THY T & e |

(B) WA H HI B A

(C) uferetor yre R &

(D) J=fe g o= |

- R &

(A) 9T 3fEq o=t

(B) P A=

(C) wwrTeff oy

(D) g s

HIJATS & oI TR fa=, o anfs &

R1e707 IR 31 9t 37 & IRUTFARaHI—

(A) STeTd! B G- e & W ¥

(B) Trer gRoml § GuR fawars vedr &

(C) v=di & 9 & gfg BN &

(D) 9= SIFTO® MRS T4 &

HIJHTST T RIeT Bl Dg g ATHR FeA

P AT B IR § FERARET abe B TR

AR T &R |2 fawe gho—

(a) rf¥eafcs # wsedr IR 9 H THRar
3 &

(b) HIATRIE H ForTT AR 37 iR
H Aiferaar fearg & &

(c) ST Brerel & faer B B |

(A) I a (B) adaT b

(C) baarc (D)adarc

Irges A walfye 9a fHd g w

T E?

(A) e 7 ureTaaf & Ae@ W

(B) HATIHTST BT 16T BT AILH TAM TR

(C) faem—Iim onfe & W@ WX

(D) BETeIRn 3R ST U=

T B FFAR "FHSH AR Bl U8
-

(A) T 9 8o

(B) S &I 3rSH

(C) &9 ¥ e

(D) 99 & ferg 3o

ERAT e D UE—URTT H DE—T
BHUT AIIGH 87

(A) wEarEa® G (B) AT
(ORLEIEES (D) THaa

Ry | 5



88. ‘WA fIenery H YR I aren Uh
s A & A& B
SUH T BT 1 B TR HE BRI—
(A) e ar
(B) WReled® ar
(C) Fenefe area
(D) omsmefe ary

T T T TR B UeER U9 T WA B
| SYYh SR alel [ddeq 31 giHu—
SIS Ao JATAD] Foi A Tl B, A 37 Y A4
P AM S Sd ¢ 1 YBR AT GE P Al Tl
IR fAwETAT & A U S & | AT I &
o forv ey R fr aRReIfET F & ¥, Swar
aref ¥ fo5 oy gRRefE @1 o R &
A T &, T 9 T ¥ | U1 B gafery
T e 9 97 uRRefRl & g §
am &, gafery e e S 2T ¥ o g =Y
gRRIfT # 7 <=am T Fn F Wy g o,
1 g AT Y AT ? 9% 99 1 Y &I & WY
A S €, 98 B9 P < T IS 5, AIH!
IRR B Ao BT <R & | AR T 319 #=1 749
1 femT wed ¥, 98 U gl g el fh
T YHTET BT HIE S | I3 ST Y 5
YR TR W &1 Jar fpa & 6 ey o=
3Hgl fhaT &, 71 T o9 = ¥ 1 3w 819w gIRT
Sbgl fbU T Yol B YBR &b MR TR GO
ST 37T <1 & | S Gl ST bl & | 3T e
I 3T, 3MYS Sila & fUsel srgwal 3R
STFARTES! Pl URETe by 1, Afe 3T S w1y
O Aol BRA ¢, I 3T 3 IS¢ T © | 37
A TS H G P T AE AT IR T ¢
S g® M Sfe ¥ Bl g, 98 vep FiiREd |
& Ted B & | AfX 31 I W Ui o emads
STrad & TP a1 &, AT 3T YO | IqDH
PHRIYUTE B fTHa o qad & |

[CTET (6 to 8) (Lang. 2) 28.12.2021]

89. WY A B
(A) ST Y& Aol o
(B) 3= HoiT BT = BT
(C) I P1 Al@T <1
(D) 3NHHUI B

90. TR & AFAR 3T PI—
(A) IS ST bl &
(B) T&I S=AT I bl &.
(C) 98e™ 9§ 9y gEefdl &
(D) 9% B SToRd TTEI §

91. Thel IMfpay & uRRefl &
IJER &l I & | I8 di—

6 | AGRAWAL =XAMCART

(A) AT BT §gd Sifeel TRl &
(B) @R BT SHHUY T1 I &
(C) <N BT IROTEIH TN &
(D) @RI BT WRATETST &9 Sl ©
92, SEA A N BME, TEITH ... @
qEd B B

(A) HIR (B) ¥ac
(C) R (D) ffe=ma
93. U9 sfedi gRT 3ogl fbT U gurdl
........... FEd T
(A) 71 (B) ART®
(C) |eH (D) 3T
94. 'S’ P TgTIT WY &—
(A) amedar (B) am&ay
(C) emed (D) sEad
95, ‘TAfRTq’ wrex A e Su=T &1 wawT faman
ST T & ?
(A) e (B) ¥
(C) 3™ (DR
96. fasisur— fa9rsy 1 SaTexuT TE B
(A) FB ST (B) ¥ 7 fawmT
(C) N T (D) gRs/ afy
e 3T T T B U] IB T Y B
I SUGeh IR dlel fadhed dl gig—

TR WHd § 79T W9 & IR Seed Iag
T E-
g, 3ref, B, HI&T ST & 9 ST Pl T
IR R & T foha ST e & e afth ¥
JEI 74 G B 8, AT AR DI AT G A
BT YA HRAT & T TN TG g B o0 7B
TR TH H GHY BT | ST I R Bl
& IS Dl T & | SN h 3T TR Y
U FR <1 &, T8 AT 79 A el b1 Sy
IR & & | gIA, I T2 SRTh A A <A W
P A g IRAN BN, T Iq T D AR T
B AT B AT B Dl § | 3T IRR B
Tte, I UG SfeT8 ST 1aedd | Jawed
fth B IS AT IR SR TR A1 3
TERIT PR & | Safh TaeeT Ffth 3rq9d o
AT N Tl DI &7 I & | STY T <
T & o g SR sl fth FARmmarar @ik
HRIATET &9 SR R 8 |
[CTET (6 to 8) (Lang. 2) 28.12.2021]

97. ST & SETAT Bl BN YIS AT I el

T?

(A) RUBR |

(B) < |

(C) | ¥ 1 B 4

(D) @R XEHY

98. I WY B Hel IRGM HaEl T F,
RAfp—
(A) T fth & F9sER B &
(B) W=l gfth &\ B ¥ |
(C) =1 =gftn & FRremardy 8 |
(D) W= gfth IFgarEl 8 ©
99, <T5¢ AR AT BT AT PR B forg fai
fth & foTT wover IRR & foTT eawg s &
(A) TRY INR
(B) fdaT TRk
(C) wrgarl gftesn
(D) FIR IRR
100. 3T MR 3FeH ARh SY I O &7
(A) FREmER (B) TerarT
(C) ATy (D) HHATSTATSE!
101. -1 3ff%g T B
(A) ArdIRh
(C) =

(B) geraxt
(D) 3reTdR
102. 'TG¥T’ P HIAAID AT -
(A) TR (B) RSN 2
(C) SrexY (D) <aref
103. 379 9§ D47 fI29or 78 &7
(A) g (B) reRD
(©) g=&@ (D) g@

R T T H FYES afey IO gu MY
e & SR B T H FIY SUGeh [ddbed B
TG BT |
T Y <ot W & SRR Yard 6l & | 98
AT B AR F A § SR B SR TN &
A 3 T A, TP FeISP Al H S Sl
&1 a9 & A B 9 W), A § g B @
ST B, o I8 = T4 7 a9d e IR F
B TR FYHIAPR AN & 3727@ T & AR &
AT TR 9 AR §S I I © | T8 AT o
& T BHE! I AR A 8, 3 TH A oH B
foTT SToeT 2o Il & TR T e B |
AT T8 30 9B AR 120 AdHe & AL
T S TS TR A o B AT A B | 36D
TR BT A ...}, DI AT AT BN &
ST S A Hed & | T8 I b1 a8 TR AR
AT HN-FHN 541 H IveTl & AR R BT
P SMaTS HA g U B Fas W AR B
X 39 FIBR DI IEGY BRI IR I8 hae] &l
A Ioel FHhl ¢ | AT Sifed 3R et
AThaTel Sifeth & FAM, T 6 Sifeh aiad
e faram wa B |

[CTET (6 to 8) (Lang. 1) 30.12.2021]




104.

105.

106.

107.

108.

109.

110.

TERT & AFAR T D S B Ja

frad AR BT &

(A) TR B AFAR

(B) ¥R & 3R

(C) TRy & TFAR

(D) AR & gER

T B Sfew T G T T I T 87

(A) T8 HR BIgT H ... ... BN AT
e B |

(B) ¥& N oA H ... .. DI @A
frrerh B

(C) T& IS ST §Y ... 9. BT ST
frererh B |

(D) T8 WA H ... G.. D @
e B

T B Sl AT & AR § o

BT B?

(A) BRI AR & 741 Bl 3R S
Bl

(B) &I I ¥ eI Al Bl 3R ST
H

(C) = & 9§ WS BT R Wl &

(D) 9% | I 41 BT AR AR B

TR & IATAR TR B SMfedb 30 ADHe

AR 120 AHe & 919 I BT FdE T AN

o & forg ol &, it

(A) z9& fra B B

(B) IE BWS W AN ol B

(C) I8 UM & Hiax A A o el 8

(D) I8 UFT @ R AN el ® AR @
BT BIST TTER A

T & AR FfIRIT § | dE—aT

BT T 87

(A) |9 GO &7 Sifet &dT § HRad
e A& B

(B) &ael T @ Sifewm a1 H HRAd
g W B

(C) v @I effewd & Ryarr <ifew &
ST YAITAT &1 H HRad @ e
Bl

(D) e & ¥ goTfoRil I &1 a8
& IR TIIT T B B

[IE TR IR TG FH—FHH 591§ SuAd

& AT 7 X W -

(A) FTom W

(B) wEmTeft e

(C) o™ o=

(D) smareft oy

TTH T BT YIRIET O6E DT 87

(A) Biferdt (B) g

(C) WFMRA (D) R

111, I & 9iaR & O T | AR g8 M
TG & | NEfhd veg &
(A) &= (B) foyare
(C) | ™ (D) fepamfaeiemr
112. ‘909 &1 faelm vreg &
(A) er=md (B) o=
(C) 87t (D) T&T

forder (wem s 113 9 121 99)

A Ry T TR B SR IO T YA &
A IUYeh IR alel fadhed dl gi+ig:

TIRE BT TR IR <& g, 7 T 919 9%
BT I T <@, S TEI-RIER R AR T
o117 @ T | g1 SR TR b I8 g9y
RRER & SR Fd8 & MI-UNT 150 fharriex
arerar ST 1 S1fSres & TIfd & 24T It & BRI
AT 1, FATTb <Iof B4 ¥ AT T T TR I
Y& o1 | % BT U8 &S] o fhaiie] a1 39
;¥ Y 9T B Hhdr o | RRER 9= 5T 9Tt Uld
Afh 1 <&10T/qdT TeTel TR S BT BT A1
T off, faRiNeR ERIe AR W | I8 S S
P foT0 Bt o, TR 1 § varwe 4 ufa fafers
T A AT N AR THH HicAaw A
BT AT BRAT ATE! & 919 89 26 A/ 61 Uk
TEd B feIRge & BRI g5 UF IRUT FHell
P JG P WS FHER el | gy BARRER
TR OM arel IPRIH-8 & IR & 918 IRB
W e B SNIF W, B DT SR F TP
54 IS I% DI IgM A Rewap og o | Aiete
IR HoRT & I H H TH B GG B T8 AR
IR TR 81 7V & | $9 FHRR & HROT IR
T B AGH B A& UR B ATHE BT GBI
AR A Fe Gk 7 Tee {51 i varwe o
HeM AP § TRl B AR HA-H AT 9
B A ATH P &S 91d ¥ DR BT AR |
113. TR & 3MYR W BHal o dhal © b

(A) Fa=I (B) fawe

(C) &vel (D) g

[CTET (6 to 8) (Lang. 1) 03-01-2022]
114. ' 3raTE’ &1 fIeA™ B

(A) STE (B) fawrg

(C) TR~ (D) ST

[CTET (6 to 8) (Lang. 1) 03-01-2022]
TIT-RRER R 9% & < 91 B J&
BIROT qT—

(A) ¥ 9dd B S FAE W BRI &
(B) e AT BIT181 BT I
(C) T A3 B BHIROT
(D) R fRAurd 89 & BIRoT
[CTET (6 to 8) (Lang. 1) 03-01-2022]

115.

116. ‘9% &1 GITIAT ¥6 E ¥ |
(A) Trefl (B) ¥t
(©) o™X (D) &
[CTET (6 to 8) (Lang. 1) 03-01-2022]
117. Fd Gk & AR TR W I8
B B IRF—
(A) T AT H MRS = A1y |
(B) I & ST T AT 91 & |
(C) TH—gER & BT UPHS HR Al
1R |
(D) TR ¥ DR FeAT AR |
[CTET (6 to 8) (Lang. 1) 03-01-2022]

118. TR A H 5 AR BT AHAT BT
Tgdr oq1?
(A) 9% & <[ |
(B) T EaT3T T |
(C) THHI B
(D) e TERTE B |
[CTET (6 to 8) (Lang. 1) 03-01-2022]
119. "M’ Tes § o T2 AR JIT 5—
(A) MHYEG +d (B) BN + o
(C) 3Byl + 7 (D) Sy + 3
[CTET (6 to 8) (Lang. 1) 03-01-2022]

120. TP IRUT BT HG BT BIRUT AT—
(A) I BT IS B ST
(B) T SIRER THaN BT
(C) 9% &I gg & Raad
(D) TaR¥E TId BT ERIHT
[CTET (6 to 8) (Lang. 1) 03-01-2022]
121, =1 % & faeor, faersy forast =78 —
(A) Siren verer
(B) g 3%
(C) <reTs TRl
(D) 9dd RrRax
[CTET (6 to 8) (Lang. 1) 03-01-2022]

FrfeTRed e @1 &aYE® ufer dem 4B
Y GEAT BT IR GG |

T BT ST & IR, W8l U 3R g
WA AN B N B 9 Y& &, TE W
ARAT BT B AR e Y& & | 7 ufian
AT TR 89 Sl (@ 99) ¥ BY 39
ST H el TN & b R GO SR Afeenai
P AT AITS do A BH B & T | reggT |
159 25 99 @f oY & drF 3R 26 & 50 99§
@ Y B AT b GO MR Al b S
IETS AR ISP AN 9 e T &
fawersor fohar R B | 39 e e fRidrie
&) I A A & & ars 79 B & 9o

=y | 7




MR 7 AIRT® g B A 1 I 81
2T A GRATT-GH AR B AHIS DS AL
| ST & ¥, Wb T TE W BE-BIS 7 A
AB TN T | ST&T T~ AN ol I SAaTs
H PIS TIET FH AR TG M B, FE RSN
BT 3N TS AR oS & & |

A @ T | 7T B A, T Urd A
& AT ST B T B M AT
AT T D T T |l HemieY B
Y TE | GOSN & Al § fre o ot @ fore
Rafd ereet 781 & 90 o°f & g o1 Ned
AT BT TP HHIER FH S B

122. Q18 H B & UO..... ... TOYMA
& T IR S|

(A) AMIRT®, ARPID

(B) enfdf®m, Ao

(C) aRGfa®, mfdis

(D) enfdfes, fvws

[CTET (6 to 8) (Lang. 2) 03-01-2022]
T MY B AR B H FI-I SI&T B4
(A) srfeare gt

(B) anfeari sr=ai

(C) emfaars Afzemali

(D) Sfears g

[CTET (6 to 8) (Lang. 2) 03-01-2022]
oy # wnfia 99—

(A) 1592599 & 1Y & JoN g Aley
(B) 159 20 a¥ &I oY & g

(C) 159 25 a9 &Y 31y Al wlkemd
(D) 26 1 50 a9 &I MY B GIW
[CTET (6 to 8) (Lang. 2) 03-01-2022]
MY B AR b1 Al & b H MRmEe
B8 87

(A) 7! ey RE B |

(B) <1 e g &1

(C) < gfaen wu= |

(D) < Fod HRA B

[CTET (6 to 8) (Lang. 2) 03-01-2022]
o B?

(A) 0 T & goui & T

(B) Ufa TS Y =) & N7

(C) enfearil gosi & |1y

(D) ST SIS & Yosil & el
[CTET (6 to 8) (Lang. 2) 03-01-2022]
TR & AFAR FaE ¥ fREae & yWe
| T—

8 | AGRAWAL =XAMCART

123.

124.

125.

126.

127.

(A) TGRS S & fth
(B) e w9 & fUss &R
(C) anfearyy &= 7 Y& qrelt Afked
(D) 3P w7 | Hlgd fth
[CTET (6 to 8) (Lang. 2) 03-01-2022]
128. D41 I8 Y ¥ O 87
(A) RIS (B) anfdie
(C) wRaRs (D) T
[CTET (6 to 8) (Lang. 2) 03-01-2022]
129. 'S’ o5 §—
(A) Jurarae TR
(B) “aarad st
(C) APpHB fobam
(D) firarad |
[CTET (6 to 8) (Lang. 2) 03-01-2022]

forder (wem W= 130 9 136 9h)
FrfaRead Teme o &MgEs® aiey 91 ®
Y TR BT SR QTS |

ST B U lbas H g @ 98 e
BT PRl & 9 &R 98 IEd & AR
fRIEh—aet AT TR SiggRT &R R e <=
HH &, IR 30 3 gD 31 D TAN o frw
ANBIAY LT dTe] ST H ST BT FH THR
q SNRd TT AEGEH B 95 aeID gl
FRAT & | AP, ST SfS Tl el |
STReeh ST 8 GATd & A1eqd | <0 AT el
TR | U Al P19l Gl ¢ oil aR<Id
# fafed w@rell § FIR SoaR A9l & Bt A
I @ arel B, N SR SRTE B W
3 WRPY ST 3R IMfRd DI B Faed A
TTeT B SR ST U G PR b DI RD AR
&rT 1 Ul w0 & e 8 | 59 SIRedh @R
[IEYH & 191G | Q! HI ACH AR B
ReTars I9dHR I8 SR A & |

130. SRR BT & | =y —
(A) SVRIGH
(B) Tsefed @1 Hafed AW arel
(C) et
(D) et
[CTET (6 to 8) (Lang. 2) 03-01-2022]

131. T BT 3D TANT DI PR Fbdl 87

(A) IFYWH S (B) SIFRad Il

(C) IRl g€ 99 (D) WM el
[CTET (6 to 8) (Lang. 2) 03-01-2022]

fopvTed H1eT9 3 9% g SR faRie g

TR =107 ST ST b 7

(A) g (B) s

(C) 7= (D) TreaTEd
[CTET (6 to 8) (Lang. 2) 03-01-2022]

132.

133. A A1CH B 9 O &7
(A) 99 ST fth & B T &HaT A
IS B 9T dIC <
(B) 9 ST SIRedh 21 AGE 8
(C) g STeT SIFRodh eI e - &
(D) 9 ST 39 dIC &1 el TART Y
[CTET (6 to 8) (Lang. 2) 03-01-2022]
134. ' 3T’ TR T faAT 5—
(A) fveg (B) et
(C) T (D) JHAH
[CTET (6 to 8) (Lang. 2) 03-01-2022]
135. SURIARRT & SH-—\1 W@ T8 8
g ?
(A) S ET HT 919
(B) ©TT & 914G
(C) dfere™ &1 wra
(D) waref &1 g
[CTET (6 to 8) (Lang. 2) 03-01-2022]
136. ATIRT® 26 / DI G &7
(A) =d (B) 3%
©) ¥ (D) for
[CTET (6 to 8) (Lang. 2) 03-01-2022]

FfTRET TEImeT T UedHR qA T T YT

ESEISSRNICM

YRl & SIa Pl e AT < B S B

AT T AH-GRT IR TG T N o

TS DA AR P Pl X fHAT | S AT

IR Grax FTRAT TATHR ST AR Hel-Heil

& g&T MY | 39 YR S G o1 faar b

AR T TR SATRYED TABR AT ST

B T WIF TP Ugd 99 | JeIfd WRageil 7 37

ST U &l BT Ha-Tall 3 w1al 7ol < )

0 & I8 e A 0 UBR BT Fhd TE Bl

& 9 STee & Iezg H quiar A gy | e

9T AR e H O ST S fararE g <l ¥

IHD o1 HRUT ARAGN & 3R S0 of 59 S

B T BT AT B BT AT U T

137. ARG Sl & ST 6 e A—

(A) < BT ABRT BT

(B) HRTH & ST G |

(C) &= w1 <R TRy ol S=ifdT |

(D) ¥R FpicT BT fIHmrT |

[CTET (6 to 8) (Lang. 1) 23-12-2021]

TR S 71 39 Siad g o ?

(A) BA-Hell & g& Y |

(B) Te=ir TS U9 1R T ST & St
qT |

(C) T BT GraR TR

(D) R BT A= TG BR BT T
feparn |

[CTET (6 to 8) (Lang. 1) 23-12-2021]

138.



139. Hicl R Hhs A w1 AN &7
(A) AT & BpEAC
(B) gY@ 3R 3@
(C) 3m—urT Bl Ty
(D) F9 & R 9@
[CTET (6 to 8) (Lang. 1) 23-12-2021]

140. 59 YR I IR g1 Q@ fb .. ’
S Ufdd & AR ARGg o 7 fohsy
[ & @ e ?

(A) RTARET & ST & AR @ |
(B) WRTATI & ST< & |
(C) &=t w1 va ey & ARt i |
(D) & & aq & S2eT B |
[CTET (6 to 8) (Lang. 1) 23-12-2021]
141, F9RA &1 a7k B—
(A) TP
(B) faf¥r=1 et &
(C) Sy
(D) ¥ BI A qrel
[CTET (6 to 8) (Lang. 1) 23-12-2021]
142, 8T BT AT BT | AT F—
(A) B B YARF AT |
(B) T g AT |
(C) & T8 <1 |
(D) ¥ S Bl AT BT |
[CTET (6 to 8) (Lang. 1) 23-12-2021]

143. 'S’ &1 TNfeas aref =& Bm—
(A) aifsd (B) sfea
(C) ST (D) Ao

[CTET (6 to 8) (Lang. 1) 23-12-2021]

144, Fx—Grax RN TR .......... STYH
Gfer ¥ @i oree B
(A) =T (B) 4™
(C) faersor (D) T
[CTET (6 to 8) (Lang. 1) 23-12-2021]
145. ARSI | D1 FAN § ?
(A) &= (B) f&1
(C) FHYURY (D) TGN |
[CTET (6 to 8) (Lang. 1) 23-12-2021]

FrefeRead e 1 eamYE® gfeu den Iw
T YT BT SR QT —

e Fetl a1 Tobedl SR ST ST = =T AT
T B ONT 9% i 99 99T ¥ 9 g9-9%
et ST faver I O @R S U R
SIS THId P H IR BT o7 | S8l IRog
T ST o | 9T & 3faX ol 9cd B &1 9
TReaE & Bl ST & S 7 AR TeX I
SIog B ST O | 399 3rHIfRRIT A B @i o
BIT o7 | I8 U & S8 WIRI A1 § gReg &l
AR SHHT 3RR S & 3Fa Wetdl SiTal 3R

BRI 81 O BRI 9T Y& | s 9% & forw
375 et &1 TS I Wie-Wiae el ST 8|
frell 3T YR &1 S & TE B & 2 uT |
T BT BT AN SR & feg - &y o
&1 3% T g, TAN fhU MU SR aRomm I8
el b UM Blet A 9o 99 B Ugia 31S
&1 Ugia 9 fegel f9=1 o 590 BROT 379 Ik
B IR AT ORI TS TE IHR O b, AP
o) IreeE™ & T XgH] e 9% B A
8 79 9 S 999 oI B 98 o P dRE
TG B Fhal B 7 SR Wed-wed 41 99-93
TSI 9T et B oI & | R 3 e oy ey
T & fTT S el & 79 I8 Fel A I
B STQ | 3 IS ST el IIe |

146. 58 weT &1 GFa= fohel o A | =

AT ST 87

(A) el o Irog BT § R Iy Fen
B BRI IO I & TT T

(B) forell # 9% BT T o E 9
B e BRI T B B

(C) Torel 7 i emfer &1l & ST faresy
PR Y T S e B |

(D) feell 1 gt 9ga Y=< Bril & 3R
ed wrf & fore wden Sugad B
T

[CTET (6 to 8) (Lang. 2) 23-12-2021]

TR & SFAR A& Pt B Sifad &

% fog—

(A) et &1 fafor o= =nfee

(B) SUgEd g &1 Ua+8 AT A1y

(C) o] WM BT AT BRAT A11eY |

(D) T3 et BT %9 <M R AT 1R |

[CTET (6 to 8) (Lang. 2) 23-12-2021]

147.

148.

149.

[CTET (6 to 8) (Lang. 2) 23-12-2021]

YOG T DT I AR TG gl H—
(A) SR BT &
(B) TR &I B &
(C) fa= &1 ek &
(D) BATHRI BT 3R &
[CTET (6 to 8) (Lang. 2) 23-12-2021]

150.

151, ‘@ed—@Ed a1 I9-99 @o o @l
B W 1 T W MY i 37eT B
e § fp—

(A) Red orf 95 aRsm & oM &

(B) =¥ orf # swmTer 89 el A
P GaTE B HRUT TP o T
B I

(C) ey Bt o I @WeT & TS
P E |

(D) R Rl & fore 9ga 991 qobiiep
ATILIHAT B |

[CTET (6 to 8) (Lang. 2) 23-12-2021]

152, ‘WEd-@Ed’ Bl IRE U 3T SaATER0T B—
(A) GRI-BEd  (B) Hiddr—afdan
(C) Fad—aed (D) FHS-—T@R
[CTET (6 to 8) (Lang. 2) 23-12-2021]
153. ‘g’ o1 facdm orex —
(A) SNTH (B) frama
(C) mry (D) erFg
[CTET (6 to 8) (Lang. 2) 23-12-2021]

forden (we e 154 9 160 <76)

ffeRaa Temer o uger QT v e &
e SR EIRTT—

e e g B qas T S ¥ 19 U T
0 g & 1 T & oIy TR 781 IR St
I o S D TR, TP 3MSH BT B g
¥ for I weh-wifT aw=t o fb #erem s & o
B Y T 87 g9 I HEH S B AdeAd
g9 ST 3R ISR TAT & BT g Al & | SHD
A 9 {5 YRS B 9o B |

BT M G el & | TR AR ASER & g
& W g B 1 /1 HUe 9% J8HR gl I
AR U gad @ TS W T I, Wy
YR PI 39 YBR Read & < bl & 9N IS
31T T BT 2T R IZART H 3R IR B
THeG TEa™, & foIg amoTe e & o1 34
e BT G ST I AT T BT TE e
ST | 379 TN, STIPT SIT-U1S <& ST, SHTIH!
WO RITEd ! BHRICT Bael 3TIh! SRUT B |
D BT DI T I MMAPT YT STARYT Dl
JERT T R IR ST S0 STER0T P el
R 1 T SR I ST SR TR ST
I D A AR B AR BI e AR A
TR A ST BT Has S8 & foTg eTe =
Brg T |

T g1 AR S9ER A & 91, 9 T-HoTed
FTTpT STTeRUT 3728 & il TARI & GE-3 9 B
T X B |

Ry wmwn | 9



154, T-HoTed R IRGS M Fal 3Mfed
I AR BT T | I H G T B
e §—
(A) TR TX SRAM AT a1
(B) Roraa o8 &v &l &1
(C) $TaR WX fawams &= arer
(D) AfaR H YoT PR dTel
[CTET (6 to 8) (Lang. 2) 23-12-2021]
155, M S A e @
AR o ¥
(A) SUNRFT UG (B) T &l SSRAT
(C) 37 smeelt (D) ¥ fded
[CTET (6 to 8) (Lang. 2) 23-12-2021]
156. TEIeT ¥ fe SN B 3/EsT AET TR &7
(A) ST =T Ao B &
(B) ST IR Th SYRIT FRA &
(C) T Y R B B &
(D) Te1 ST 3T ¥
[CTET (6 to 8) (Lang. 2) 23-12-2021]
157. “S9& AFH A {5 VRISt B Ao g7
qIRT H Tpe 3797 BT I —
(A) e = (B) smafy
(OR: (D) ifeer
[CTET (6 to 8) (Lang. 2) 23-12-2021]

158. '

[CTET (6 to 8) (Lang. 2) 23-12-2021]

159, TEE H IR B F_H W 59 919 W)
o1 T T B2
(A) TR & AERY BT T
(B) THRI BI SATAR0T FERAT
(C) & Bl AR GERAT
(D) T & STARYT B ST =
[CTET (6 to 8) (Lang. 2) 23-12-2021]
160. TS BT A e T
A) 9T+ TH (B) U + I&H
(C) 9T + V@ (D) 9T + TH
[CTET (6 to 8) (Lang. 2) 23-12-2021]

et (ues W 161 9 169 TF)
Fr=fafad e @ 9eeR @ T Y B
T UG SR a1t faded g |

Wl B BeT Y gg <l Tb Gael—Udell gl
e & iAo Rered & IR H Fard o
M | 39 R BeT § A B €9 IS | IR A1el
9 H 2 S uiferdl B a1 o | Rt 7 9 v
T, qA el & TR H SIER a1 RN 2 gH
N Sip | G N T B Hebell, R SrerfPasd
TR 1 A ? Fre DT el § | A1

10 | AGRAWAL =XAMCART

TN IE G ST ATEdl | SERT BlR Agd]
JUAM 93 TS | 9RI FR S9 W R I ol
<@ | TR SR S Al 4 BT, ‘1 H g @
R o] G1aP T FH g, 0 SFD Al 7 I
IRT frar iR @al, ‘q9 FB W R Gl o |
9 AR H AgAfeT ¢ W T8 s
el o o9 Tt YIS § S 91 a=ai |
e ISR T, A SE HB AR kgt
Hurell iR g¢ ey & Wy aefl, ‘¥R, 18
IRIT, 3FR T el IR 3R g &,
|9 o g &1 9 7 39 A 79 ¥ forn
3R SHHT 1T TR SETHT ST |
AT TE A IS T B TR H Y& T,
& DI Bl FATE U 3FTA PR T, T AR
Uifted GRIE o o | FB AT § I ared
TRE o1, TR e A foran | S9a 91 98
BIE-AIE IS A 1 o o0 | o9 B AN
IR AGE B foT0 SR 319 oY | I ST S8
TN | IHD BRICT go= B ol | JAT 1960 &
Mg H 100 Wex, 200 Wex 3R 4 x 100
Rel 7 9o Rl TATHR qEP! SMTaIAfbd B
& | afraes # gfier e arell a8 arferdr o
SHR®T B IRig enfaer e weie® |
[CTET (6 to 8) (Lang. 1) 31-01-2021]
161. ‘=77 fpar’ &1 wa Sugad a7 erm—
(A) Sfc T s (B) T ART
(C) Sue™ fa=m (D) Farer f&=n
“Uifted GRIF | SFI TR T, -
(A) TSI (B) THA—SFT
(C) dRH—dgHd (D) dqHI—dxXTH
T DA WA H AR E....... i
¥ gfc q 3 A STYF a5
(A) TEIYE I (B) faemede arag
(C) fAvenef® ar (D) fawrnedsd aray
TGD B qaTel B UR BT €4 Uy, Fiifh
ASDHI—
(A) T T8 arE o |
(B) sgd BId &Y |
(C) Tt =8 Srar o |
(D) Tt & aaan o |
TS IR X ASD! Pl THeAd Bl qI
T WX fHem & ?
(A) =@ AT 7
(B) =P UfRrersd o
(C) =9a e =
(D) SH® \EuIfed 7
1676 & SR W IqB IR H GROT I
%z
(A) FOR oI |
(C) AamT o |

162.

163.

164.

165.

166.

(B) f&ady e
(D) IR o |

167. TSP & IJAR T FV T 8, IS B—
(A) HIR TR IR Feel IR
(B) ot BReAT SR TR b Pl
(C) =Y IRoT IR 37esT URied
(D) W= A AR S gRIET
168. T H Ff2d g0 G= 2..........
(A) Shad & forg oM iR gRsm
NP & |
(B) TRIR® 37eTHdT aTel AN @ 31
RS BT Isa B |
(C) 5T F1 ASI® ST O e |
(D) fretes @1 SaTe] BT AT |
169. ‘' SEEi—dfed’ &l fawe e —
(A) ST & fpd
(B) 3mead & 1 Afhd
(C) ey 7 afed
(D) 3T SR wfdpe

frrden (wes = 170 9 178 %)

A f3T g wTemr @1 yeaR AfeiRad el
W Fe¥ 3fed fIdwed @1 gaw |
TR & GRT TeR) FIeTeNedr UraMde |
B et B | ererdag H foran gy &, &
Ted] B I § | TP TIF W Ig 9 o ¥
& & afes B arel [, 39 PIE T B A
X R IR g B A UEI | §&I B
SITETT UEaA™ &1 et a7ef & gedl & wiRRerred
T & A1 PR BSOS | BH UIpfich AHGAT B
UTHIIP SR AT Qe A T B | 37T
NATHAT 39 G B & fF fawa & T g
STeTary IRE & IR EAX Bl ASY ST
HANT ol & AR T Rrar Saamry
[ S, TIfes A E IR SR Sf A |
faeg—famme & fue & fore aryfes ve =fema
AT T TR ® | 3 X9 # Sr=ied & <8
& | SRUI—RIG &F Jael IRUI—WRET Bl q1d 2
IO T, GIT T NReN & forg gedt oy e
BT B | fH A 8 3R BH S -39
B Bl ARared BT B |

[CTET (6 to 8) (Lang. 1) 22-02-2015]
170. ‘9 Y& & I &80 F A T—
(A) FEOR & I ArT
(B) &\ 99 AMR®
(C) TF ©9 I & an
(D) B WRAAR
“fERYT B AT Be—
(A) R+ IMEROT (B) T + TR
(C) uR +emaxer (D) TR + Jraxo

171.



172. &9 UP(d F §&T Pl MM UgaNd ¢ IS
—
(A) TIRRIIS & BIBIS BT &
(B) g1 &I GaTE I &
(C) ATEFT Bl <Te B ©
(D) YAl ¥ g1 FaER A ©
173. "I X SN O \p '~ SaRT” Bl 37ef B—

(A) B (B) ==
(C) Fger (D) N1
174. & ¥ IR BT B ool & | SHDI
T B—
(A) 989 BRAT (B) fg &1
(C) *M9eMT (D) afxzm-fazv1
BT

175. faea & 99 <o & sen & T & 59—
(A) TATEROT P & BN
(B) 30 SRS $AMERT ¥ e
(C) I YINT Y
(D) Frea o B B
176. ' 3RUI—AREOT BT e §—
(A) @91 B e
(B) U T =T
(C) TaTaRoT I e
(D) | &1 eT

177. < e A 3R SHd T § ¥, I8
TR B—
(A) g1 R gedt fyarfralt &
(B) W 3R g A
(C) =T R | <= §
(D) 9T MR gafavor
178. ‘R AR —
(A) Fd9H (B) foman
(C) faermor (D) &=m

FrfeRed e @1 9k 9@ TN TR B
I SUYFd SR aTet fadbed g |

3T 18 & &3 7 1 SISRIBROT &l S & PRI
e WM R TG 6 U5 IR B G B |
TP 3R A BT IR ST & SFAR ST
e g & forg TS & IR g SUeTey 7T ¥,
o I S T & TS U AT BT NG B |
T ¥ 3fers RIeT =yaxen Th g8 fdmey
P IR W S &I fse af qu & W &R
A T O FH el gedl B T WRER B
3R | YT A IoKT Y S—RRIET gawen &l
YOAT IR Y T Sic Ssial ee 39 99
U BT FHIT DI TS | T Te it
Rrerm a1 e AR I A Y TRE 1 Yo A
ST BN | S U 6 fRwar I8 & 5 s

TeTS TR 90 B D | T B B R IS &

|féfrare 3R &0 & aiftrer 2, S fash o

faeafaemery % 7 B |

STTeTgT TBeH & Ui Al P gl I8

IGPHR HET o Tl & b Ra ¥ g 9y

Souadl & | I8 BRI T b o9 rfdrapax Rieror

R 3N A=A B 3T X T | UGTS BT Il

T SR BT o Trserier T b1 e ure vy

@ T Biersll &1 gma, JaeT wieT SR fiR v

|1 A BRI DA Jaredl B Tl G B

foTe 1ol YRFe TR 81 e B | 9IRA H dad

IRE ghera BHE @1 faeafdenea § gaer e

TV A SAFernsT e 39 arell dR &

T 9RT U 9gd 991 IR 99 T F | 370

TH—GER BT qASF—SI B FoTemar 41 ari

A G 58 < IR BV F R A Ay W

BRET ST B I &, i AT e o

T T DT ARPIT AT 3T qRT AHSI I el

T | SIfere wRa & Uy o Bfy 9@ ¥ SR =)y

AR 6 A0 9 9 ¥ 198 WRa & forg,

fRIeR Rl w1 & o g wabd B |
CTET (Lang.-II) 7-July-2019 (VI-VIII)

179. YRA ¥ SiersH fR1en § fR=R i sga

BT SUYT BROT TE& §—

(A) ofrpax fueor wRed &g
AT AT B T

(B) &N BM & HIROT UGS W @I gl
NIRGEE

(C) foea & oM I & MRA 7 B 95
AT

(D) 3rferepax Bl Bl foeafdener # yJer
T8l fieran

ARG 3ifeTg Riel 3 arell wwafll &

1T 950 91 96IR 99 1 8, i —

(A) TSI TH—HR DI TS BT T
CER

(B) eifarss Riel u= &1 B gad—
Jafrdl 1 STBfi BT &

(C) AN & PIE F3 I =1 f&h e
S &

(D) oftprer gas fddl eRUl ¥
fazafererh fRren ¥ dfq <& o §

TR H Y FrEfiRad aed @ aR

AT H drer T % R & 5 v

A ogfE T 1 OE W B YEaaR ffgd

PHIT |

(i) ST VAR Bl

(il) FTHSH—ST Bl TS

(i) &I H I g8

(iv) G S B

(A) (79)

(©) (us)

180.

181.

(B) (99d)
D) ()

182. S@RT ¥ Ife | “eifFemss’ iR fren’
T & HHI—
(A) TE99, AMTE (B) 3MTd, TIH
(C) dg¥9d, a9 (D) TH, dg¥d
183. 'SUAIAIAT ¥reg H SUGT SR Uy HHI:
£
(A) 99, 5ar (B) 3, firan
(C) =u, (D) 41, S9
184. 3771 frem Tl &1 Ugd | R Bl o
I8 T | SHB BRUT T—
(A) RIS SRETTT BT Y & ST UT
(B) SUYERT FaAT BT FARBRIDRUI BT TAT
s
(C) STSIRYBRUT & BRT e 7 &1 7
®
(D) Rg 31ferd T BT O 3B &
185. * 3ffeTg et Sgawen’ &1 aed §—
(A) TR 93 X B A1ewH o fren
(B) ¥oTiT, SO o &1 Rram
(C) g R ATETER AT & forw forem
(D) &1 M YR & Yoo 4 qad 1R1eT
186. 9RT & foTg YA—Habd 5—
(A) et @1 FreRIERoT
(B) o= ArRe - & /1T g
(C) Miges Rem =azen
(D) Sifarg et

FrAfARET eI BT UGHR IO TV Y1 & qay
SUYI SR aTel fadhed &1 AT |
Rien w9 &1 RTH R TR @ Sfyd
et R R 1 98 Riem S wa B
JeI—JRID & &A1 B AR BB TR o
A2 1 IS TR e Gepd, AR, qedRA v
3re8 AN T8l a1 qehall, TN S T &1 ?
e, |ed] URq 3G HolgR 9 EID A Pal
38T 8, O e SR IR7e & | §9R & a0
99 IR gE-AEH N I P 99 T G
T8 | TR g APR AR e 91 5 | Rifer
FfeRT BT Peiedl BT ST 8 S AT <MY |
T 1 arferepRy & |

[CTET (6 to 8) (Lang. 2) 08-12-2019]

187. 9% Ififéra fiféra wafea & et &, Sii—
(A) TR fRIaT 3
(B) o9 AfYPHR ST |
(C) ARTH HT FE SYANT HRal ol |
(D) T AR FeaRH o |
188. 3 foren & faewar & ¥—
(A) GEEHT I
(B) SRIRER & |
(C) 3o S <= |
(D) F=aRa AFRE §9H1 |

R s | 1




189. PRI IR Tl & fIwg 7 gRIfea
gfe —
(A) Faedl B YfY Fod el Bl
(B) SMI &1 SRR &9 S&T B
(C) 32 oy wewg =18i 3|
(D) SIfIBRT B BRI T & |

190. ‘AR FB ABR AR Hoied A & ' ST
7 oI YPR BT E ?

(A) @gFd a@d  (B) fasr araw
(C) g ara (D) IR arFg

191, -1 IE 3 STFT | &1 M & ?
(A) 3TE (B) Srgwarn
(C) IFFIPR (D) rgwH

192. 77 T4 Y& a1 S AT &, TI—
(A) 9 U GE D A1E B |
(B) SN STREII@ FHMT ofma o |
(C) = nfAs o4 &1 |
(D) 9 Rifara & |

193. "gE-A1ET’ & faus 3R T B—
(A) FEI & AET — TG
(B) Q&I & 1Al BT G — a7
(C) g@ | AY O HIgH — FHURY
(D) g R HIE — qagd

Y RY T TR B UEHER IB T WA B
/AR SfId SR a1t fawed 1 gig ¢
e a7t A & orod IR W TS B 1 Th
MR TP B S, FTIION P 8| TR DI
TFIgeon Rienefi ® A9—arerd IR T IR
N W& I FIae B Bl A el & | TR
@ g e dTel IR X MR &, AT
B SR g=lfed IR S ATt A B | g IR%
et &1 AgAT A1 B S @i X AT ©, wa
2 HAT & AR TAR AT Pl YaeT Bl gall
et fages < waan & | FARerd & 98 Wit S
B, WR AT SR BT PR aTel TR Bl
AT YRR T | 39 AR R TS Rianeff R
BT G AT B | ARG BRG] TNT AT T IR
& derd § a7 M AR R & axemer #
B U € | IR B G TR & b 98 e @
e Tl @1 781 B <l 3R AP TRIAR
BT Tl I ¢ | T 1 I8 Hewg a8 o
% 98 sea A ¢ dfed AeQyw Ig ol © &
IR §RT QT ¢ Yoo & HRUT 98 J@I 8|
319 & ST 91 & b Fear @ w15 ? SR
& B 9 FIT & ? TRRd AR BRA B B |
warel ¥ & & IR fIaR &= &1 @ sraarer
a1 fos 8

[CTET (6 to 8) (Lang. 2) Sept., 2016]
194. orgs = R1e & w2+ 3 359 919 91 78

fRars ?

12 | AGRAWAL =XAMCART

(A) TS B (B) faas &1
(C) feremeft @t (D) INTR BT

195. "R RS a7 1 A1e A6 8 A1 ggel
TR FT 8 ?

(A) TS 3787 Yaral iR gE—mfa
(B) ToIGA H A B & AN
(C) gfaen o1 IRTE SR W

(D) IR &1 g, FHied SR qu-

196. 7 ¥ ST IR IR @ T8
g7
(A) TR GE B BT 99 YT Bl B |
(B) SR @RI &I YE—f <l &
(C) ISR AR BT ST 3MMHYOT I Frerar

Bl

(D) 9NIR U%h ToTael Bl OvE & |

197. TER & IFFAR AN IR D Gd 8,
RAifp—
(A) AR & TN & ARy B BN
(B) T 99T & UH &R &
(C) ¥ AT ATerl &
(D) ISR H 3TTHYT &

198. eI & 3MYR IR Fal ol Al & fh—
(A) TR ARITRS ST ST TS IR &
(B) N S¥RI BT & H STHfad B &
(C) WfmdTars | g1dy 787 & <& &
(D) AfyHarars | &rdr & vE §

199. ' THYT’ BT faeT oo F—
(A) ST (B) faameior
(C) TA@Su (D) HeEu
200. "IN BT ATH T—
(A) X N S I F TEENE
(B) ol &1 BT &1 S
(C) TR=AT & & &1 AHfes |
(D) R ¥ <Aerdr drell a%g Bl 94

foren (wes | 201 | 206 9F)

A & T e B ea FfeRad weA
# w9 S fawe gio—

AR foemer <w1 9 fedrera &1 e femmifey aret
TRRRY 71 5 ARl @1 5 e &, S T
3IR AT A 1 AT BN G o1 ey
TRE &1 & | ! M SAR qaeil 1 GRIA B
TRTOT H S1Yeh T el Wel | S e WX WG &l
S yaTE FEfAd gail, I8 31TSl 9% BN 4 3R
9T a4 JET ¢ | HRA SART < & 3R
B 9P ANIRS &, T TP Aedls sAN |-
H e g8 ¥ 19l oY st A v arer enfy
T & g IR &F e a1 31 faaR s=a
ged & |IY TR ST B A TS S
sl ¥ 1 BAR eifife gdi W el @ He 3R
SR & T2 TR U B & | gedl & Th—UH
TR IR WRIGR P R |G 7 S THIR

I AHE B T haT, S <1l IR 6 1
I~ fbam Sl &R b dIel & w19 1 g A e
a1, frg omret Rerfay 91 fafert ok v < a6
oS & 71 T8N lenfie i 7 5
T HR AN s o | Siamenti Afeat
SITST YUY BT ST <& & | fAe—Ssax |rem
BT TS & fob 1 IR P A G- e
B SR S Al g8 ArSISl Bl A | AN B
q IR B

[CTET (6 to 8) (Lang. 2) 22-02-2015]
201. TG BT 5Tt Hel 3 e &2

(A) AFERIER |

(B) STV ST |

(C) TIRRRI

(D) femrera &
202. TRIH b TR FHINI TR BT ST+ 3T

S

(A) T H

(B) Ifedi &1 g |

(C) 9P & grToT |

(D) feorera #
203. Rafy feraoe = & T ¥7?

(A) ATl 97 98T o E

(B) Hfedl &9 &1 e ¥

(C) wfal 918 @M o M &

(D) et wefia & 7€ &
204. “STawETRIAT &1 ™ &—

INBEEIEREUREI

(B) GToTENfrT

(C) YToT=Idh T

(D) ey
205. *SreNfe’ wTeT P e TR B

(A) 3T (B) SIMT

(C) SEmT (D) TfTs
206. FSTHT PIS T 7 & S BHeEd &—

(A) 3= (B) &<

(C) orEvs (D) 3™

et (wem s 207 9 213 9@)

A fo TRy TR BT UgeR e SR fawe
BT I B

AR B YHT I I8 AT BN 5 B
T=I 1 difgd e IRl & a1 & I B |
IR TR H, T8 9N, IR a1 & 9 @R
HaA9H YPH B e | B, el gear o o
BT I, G IR R 51 fIaR <9 g & I
A YT I AT B B H A | 5 I
BT UPM A §I I@N 11 &, S =4 IqT8 P
Tgel faT | & A ¥es & wY H AR A9 AR
Y U B, IHD ARTD DI DIRIPIY SIeal o
oF TR & AR STEATH GRT IR B B A
eI UTlt | 3R S PIRTeTal B v a7 famh,
HET, Y3 o ¢ | I8l TR S 1T BN BRI



ouT %, S Wi dwerrell § 3raRIR I |
E— Fear guATY JoT e Y Sl # it
BTN AT 7, AT IS T G <& B, AfbA
IR | 98 UH e W TE TS U, ifh
o BI AT TR AR AT IS §, /IR
Y A9 S ARG e Bl
[CTET (6 to 8) (Lang. 2) 15-02-2014]
207. ... IR H 98 U ook A el A ur
. SIET AT BIROT R B
(A) T & U IS GOl T & B
(B) ¥ Wegfg B &
(C) S=di & U 9gd AT TgWd B &
(D) Treres gedi & 91 & G
208. S=E B YH b e @ B 9 RN
B TS F?
(A) 9T A g Ao e &
(B) TP &1 BI—¥RT IIAER0] I D
SATHIET BRT &
(C) o= 37U+ Sfol & Aredw 3 foa gy
B
(D) I=I B WIH WA AR Ui
qIATERT § & A ¥
209. %ael TeRT F WY H FRT S <7
(A) ITA-ARKTSH BT YER I &
(B) AR Bl YHha & fIog &
(C) STA—ARTE B PIfIBTaN Bl faBRia
HRAT B
(D) ITA—ARTD B YPiI P IIHT &
210. 9 T & YR YR ST 37qT Hel H
T B ?
(A) o=d1 B HITH, TH—ITT B X BRI |
(B) =@l IR e & et Ta Sl
(C) T & AR BT Y&R T4 & Ty
BIR TR BT AR Tl I FRam
(D) V¥ e ARl T fAHfor FA,
forer b
211, I8 R 9 94 Bl HROT BA T, S
s
AN B g W fh 91 A TR% S9IRT
fear T &?
(A) 9= BT HeM H 939 T & BRI
JUaTg ST
(B) 3FEATTH BT \d et
(C) I=d BRI STeATIH & STl bl 7
Lini]
(D) ¥=d gRT fAR=R Ara—faarR &=
212. 59 ot § 'S%’ YT BT YA & fhar

ST Fhal?
(A) wpfr (B) 91
(C) ar=d (D) If&

213. 'S S BT ISP A @SS .1
IR & NI S H BT BRD &7
(A) Al BRE (B) TG BR®B
(C) & BRF (D) SUEH HR®

TEIRT BT U (IRad T 3 e Sfer
faped ghT |

T G eafen el T At A @I R &,
g D! AN BI a8 T TaST A SR
< & S ® | 5 <afth 1 gig + srerar Swe

219. ‘qES’ P fIelH wE &

(A) 3 (B) gaf

(©) 9 (D) st
220. ‘R HT AT F

(A) BfSTS ¥ (B) AR |

(C) TRsM ¥ (D) foem vars &
221. 'NYgFYS o1 FAFI TR E

(A) g (B) grdrT

(C) @A (D) Tmead

e At o

B ARAfIS TP Afh & SR S T Ry
ST AT ¥ I8 %G S € I & S §, I8
YT qEST B il AR el & S Y, HRp
T e Hebdll | U STEfIeh STERVT of | Ye
A TSR & Riga &1 SfaseR 5 | 98
|EGd AG T | 3T & 7T BT Aifardp [ &1
faensit <e & Toa@Ei ¥ o IRfad ¥ @,
QBT IHDS WY I AR AN oW Il B A
Tt &, F9 eme =ged SR & <&t | v
B W B A & Wi e & faeneff o
IS BT AU 3D AR HeA B BE Heb, T
e FTa1 Axpd el B e |

CTET (Lang.-1T) 18-11- 2012 (VI-VIII)
214. 'GGI H AL T

(A) ST T T

(B) |%I

(C) oMfashR B+ are

(D) SUdad # & g T
215. IRAfAH EPpd ARD T8 & Ol

(A) 7T IMASHR I

(B) U SMISHRIT BT YANT HRAT &

(C) |EPT T ST &

(D) T Y AT FRaAT &
216. 9= Ffth 98 & I -

(A) 1 STISHRT BT A1l &

(B) 38 HUS TEdT &

(C) forfare &

(D) T 3MISHR el B
217. ‘faeneit’ wreg @ wf-faeoe &

(A) T + =neff (B) fa=rm + &t

(C) faam + (D) fa=m + ereff
218. ‘Y& 7 TH@HHU I D @IS DI | AT

BT HHATH H FafeTT |

(A) T & ERT THETHY I B Gl

BT

(B) THATHYUI el =S A Gl

(C) =T 7 TSI g Bl EISl B

(D) ST # & I Tl

1.(C)

6. (D)
11.(C)
16. (C)
21.(C)
26. (C)
31.(B)
36.(C)
41. (B)
46. (B)
51.(C)
56. (B)
61.(C)
66. (D)
71.(C)
76. (*)
81. (B)
86. (B)

2.(A) 3.(D)
7.(D) 8.(A)
12.(A) 13.(C)
17.(A) 18.(D)
22.(C) 23.(B)
27.(D) 28.(C)
32.(A) 33.(B)
37.(B) 38.(D)
42.(C) 43.(B)
47.(B) 48.(C)
52.(B) 53.(C)
57.(A) 58.(A)
62.(D) 63.(A)
67. (D) 68.(C)
72.(B) 73.(D)
77.(A) 78.(A)
82.(D) 83.(A)
87.(C) 88.(A)

4.(B)

9.(C)
14.(D)
19. (B)
24. (B)
29.(C)
34.(A)
39.(B)
4. (A)
49. (D)
54.(A)
59.(C)
64. (B)
69. (D)
74.(C)
79. (B)
84. (D)
89.(B) 90.(A)

91.(B) 92.(D) 93.(A) 94.(C) 95.(D)

96.(B) 97.(D) 98.(B) 99.(A)100. (A)
101. (B) 102. (A)103. (D) 104. (B) 105. (A)
106. (B) 107. (B)108. (C) 109. (A) 110. (C)
111. (B) 112.(A) 113.(B) 114.(C) 115. (B)
116. (B) 117.(B) 118. (C) 119. (D) 120. (C)
121. (D) 122.(B)123.(C) 124. (A) 125. (B)
126. (A) 127.(D)128. (D) 129. (B) 130. (C)
131. (B) 132.(A)133. (C) 134. (A) 135. (D)
136. (B) 137.(C)138. (B) 139. (A) 140. (C)
141. (D) 142. (A)143. (C) 144. (C) 145. (A)
146. (B) 147. (B)148. (B) 149. (C) 150. (A)
151. (B) 152.(C)153. (D) 154. (B) 155. (B)
156. (D) 157. (B) 158. (B) 159. (C) 160. (A)
161. (B) 162.(B)163. (C) 164. (D) 165. (A)
166. (A) 167. (D)168. (A) 169. (A) 170. (A)
171. (C) 172.(A)173. (B) 174. (B) 175. (B)
176. (A) 177. (A)178. (C) 179. (C) 180. (D)
181. (D) 182.(B)183. (C) 184. (C) 185. (A)
186. (B) 187. (A)188. (C) 189. (B) 190. (B)
191. (C) 192.(C)193. (D) 194. (B) 195. (D)
196. (B) 197. (D)198. (D) 199. (B) 200. (D)
201. (C) 202. (B)203. (D) 204. (B) 205. (C)
206. (A) 207. (A)208. (C) 209. (B) 210. (D)
211. (B) 212.(B)213. (C) 214. (C) 215. (A)
216. (A) 217. (D)218.(A) 219. (D) 220. (D)
221.(C)

5.(C)
10. (B)
15.(B)
20. (C)
25.(A)
30. (D)
35.(A)
40. (A)
45. (D)
50. (A)
55.(A)
60. (B)
65. (C)
70. (D)
75. (D)
80. (C)
85. (B)

aa
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